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MORPHOLOGY and SYNTAX
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Lecture 1

INTRODUCTION

Words are important: basic units of language, unlike phonemes and syllables, words
carry meaning.

Unlike sentences, which are forgotten soon after we produce them, words are
stored in a speaker's mental dictionary or lexicon. Words are the fundament
building blocks of language.

Native speakers of English know thousands of words such as read, language,
computer, on, whose meaning and form cannot be predicted.

v ety ¢ aall EM U ESNPON | g LS

Native speakers know how to segment a string of sounds into words when they
write, for instance, so then: What is a word? How can it be defined?
Linguists define the word as the smallest free form in a language. This means that it
can occur alone and in different positions in the sentence as well:
(1) What creatures do children find most fascinating?
Dinosaurs

(2) Paleontologists study dinosaurs

Dinosaurs are studied by paleontologists

* Dinosaur (-s) is extinct. (-s is NOT a free form)

MORPHEMES

Like syllables and sentences, words have an internal structure which consists of one
or more morphemes.

A Morpheme is the smallest unit of language that carries meaning. For example:
Builder is made up of build( construct) and-er(one who builds). Houses is made up of
house(dwelling) and —s(more than one).

One-morpheme word is said to be simple and two or more morpheme words are
said to be complex. Ex: hunt, hunt-er, hunt-er-s.

came WAl (3 80y aol b Byl

er 5 (sw) Hrws oo U BUIlD oo 2550 (g0 W jasead) 1:) Builder aels” J2
(s sra B (g2 oo oV ) e29)

er =Y ¢ build =\ : wd5s ¥ 325 0 45 Builder 3

¢ Houses aalS" (3 adyse o5 2m5 O bazd fo —

(ot sme o Jlg) 5 =Y (J) HoOuse =)« wdype ¥ on =
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@ . hunters s hunter Ju &S5 i STy o3)5s




FREE and BOUND MORPHEMES

A morpheme can be either free, when it can stand alone, or bound, when it must be
attached to another one. Ex: boy vs. —s

A free morpheme in English can be bound in a different language. Ex: head and fi (in
Athapaskan, an Amerindian language). In this language, this morpheme is bound,
sefi, meaning my head.

Conversely, a bound morpheme in English can be free in other languages. Ex, play-ed
vs thaan leew (eat + past in Thai)

Lkl 9 ) byl
05 ¢ (Mg 59) DOy 2alS™ Jta ¢ 2T e Loy OF O3 e ool 131 T 068G wudsl)
boy 2 k)l \s\@g‘\&&gw‘sjsyywpsygagg\s\’\@@y
.boys
coSally ot a3 Tiie 065 o) S apld a3 4 o Lle
ALLOMORPHS
Allomorphs are the variant forms of a morpheme.
Example 1: the indefinite article in English has two variants: a when preceding a
word that begins with a consonant ( @ book) and an when preceding a word
that begins with a vowel (an orange ).
Example 2: The plural morpheme =s has 3 pronunciations: [s] as in cats, [z] as in
dogs, and [az] as in judges.
Do not confuse spelling changes with allomorphic variation. Ex : e in create and ride
is dropped in creat-ive and rid-ing. On the other hand, there is allomorphy in electric

/ electric-ity and impress / impression, where the pronunciation changes but not the
spelling. [k] = [s] and [s] = [sh]

oo il adle Sl a1 e
¢abook.sﬂ\@&qWW%.@l\ﬂucmd&;\anca : e

ke ISty aall s b OY 5hy0es)l 05SG @, an JG .an orange

[07] ks 3,09 dogs [2] ks 3,45 Cats [S] 3hs 50 ¢ pad) s s JK81 1 5T Jls
o)l 0SB mad) gae U ST il s U judges
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sl i Vg (52) sk = ride ¢ e alin




ANALYSING WORD STRUCTURE

To identify the internal structure of words, we need not only to identify the
component morphemes but also to classify them according to their contribution to
the meaning and function of the word.

Roots and affixes: Complex words consist of a root morpheme and one or more
affixes.

The root is the core of the word that carries the major meaning component.
Typically, roots are lexical categories suchas N, V, A, or P.

N=Noun, V=Verb, A=Adjective, P=Preposition.

Affixes are NOT lexical and are ALWAYS bound morphemes. For ex, -er in teach-er
(V+er =» N) Af=Affix

SRWL RN NPT SERUPNPREININE -V PICHIN Y U CA RV JUER VR e
S dib gy sme 3 BLALes Jo sy Lol oda
(I a1 g 80 e 0S8 ASM SLIST 1oy b
.(affixes) s>l o er ¢ (root) 4> build = Builder
ol Ll O5SG B3ley LSl )l el ekt (sl 2l 8l 5 : (The root) ik
e O gl Rk e
teacher 2.lS" 2 er Jt (s abype 0555 Lilsg ¢« s ane o ¥ 1 (Affixes) =150
.teacher ! muaid er s>V + teach = o 5ls
ey s ald

N=Noun ~, V=Verb Jz8, A=Adjective 44w, P=Preposition_a <, Af=Affixes @)l

N A N \Y)

/ \ / \ / \ / \
vV Af Af A N Af A Af

| | | | I I I |
Teach er un kind book s black en

AFFIX TYPES: There are 3 types :
1. A prefix is attached to the front of the base. Ex. De-activate, re-play, il-
legal
2. Asuffix is attached to the end of a base. Ex. Faith-ful, govern-ment, hunt-
er
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3. Aninfix, which less common, occurs within another morpheme. For
example, in Tagalog, (the language spoken in the Philippines), we find:
bili = buy, the past form of which is b-in-ili = bought.

: t\jﬁ B g1l
Do e (GA) A Y1 2SN Byl dag )y cprefix dlud! &4
Deactivate, replay, illegal

D e () Eemle Y1 S Rl Loy ¢ suffix dlgd) G190

Faithful, government, hunter

g5l e A2 dH) § (o)l (3 55, Al S shia Lais &y tinfix Jawgt 314
P AT W 3 g ey ApEYI A 5 18
¢ buy iy g bili (Celd) Jol 34) Tagalog 3 (3

bought sl ans binili s oW kst L
BEWARE! —ish in boy-ish-ness is NOT an infix.
Al 2S5 ¥ Y cinfix dawg 23-Y o bOyishness ads” g ish )l 0 s

suffix 2led) g1 o 6 Lot 36 b ¢ L S5 5l boy

Arabic, and other Semitic languages, has interesting illustrations of infixing. Roots in
Arabic are consonantal. Various combinations of vowels are added, including in
between consonants to mark grammatical contrasts such as: Kataba = wrote,
kutiba = has been written, aktub = | write/am writing. One way of representing
these facts is by assigning vowels to a different tier, level :

Af

/ \
Kutiba

\ 1/

Root (" write ")
pdsid o calotad Gpte 4y oy iNfiX Alowsll 3l plasnn) W Sa5 gy ,all a2l

— OB e e gme and (B80Sl Aaally dondl)) 2SN Loy sl SCa)
A g e 2dS) Loy i oy 3180 T 9 U 3 Kutiba — Kataba .o

PROBLEM CASES

English morphology is said to be word-based. Consider the following: re-do,
treat-ment. Most complex words are like these two.

Not all languages are like English, Spanish and Japanese; verbal roots are
ALWAYS bound and cannot therefore stand alone. Arabic is also like that.
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English also has a number of bound roots such as unkempt (unkempt hair) which
does not break into un+kempt.
Other words such as inept were borrowed into English from Latin ineptus
(unsuited). Today, this word cannot be broken up into * in-ept.
Another class of borrowed words from Latin via French is represented by the
following: receive, conceive, perceive, permit, submit and commit. Each
potential division of the word does not have a meaning of its own. Re- = 'again’
but —ceive = ? Consequently, these words cannot be segmented.
.treatment s redo i 055 Lgws AL SldSly ¢ 2dS) s dazmy (spldY) 22l
(sie Latls adaall) joddt 058G Al Wl a5LL oo ) b kYl e el o
et Lol gl aallly laasgd e Wb 0555 01 S Yy
Y s (it ) ) i) unkempt (e ¢ sill jeddt e Tods W Ly agld ) aall
& W e ods T iy (D x2) inept ST olds . un-kempt U1 lgewnds S
Jin-ept J lewss - Se Yy i
D e e @) e Bl & gy Y o) s LIS e g5 8
receive, conceive, perceive, permit, submit and commit
b re Lhas dreceive S ¢ vgie (Y Jires sne dls 0 b Sl ods LT )
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Lecture 2

Derivation is an affixation process that forms a word with a meaning and/or
category distinct from that of its base. Ex. Sell+er = sell-er, V+er = N, NOT to be
confused with tall+er = tall-er, A+er =PA. Here er is inflectional.

iz gag 1S | Sadd ¢ Al affixes a>1sll @lol 2lee s @ Derivation @uixiY!
sell Jas jddi Seller @ Joo A1 G ¢ ool ¢ o 1 Ls a2l oy A e il asy
et d) e s Aadlly ¢ @b ) e e 2dST) sre i r AL a0l sl L0
aie as Sy ¥ oSO ded Lay affixes =150 @Ls) adas 5o ¢ Inflection BlixaY)
:J».wdagwwfjscﬁ\&\jﬂwwwﬁw\)&m\{;%.)JJ,-\Q;
Lo WS dde cuner U Lasl U tall e A4 Taller

Fig. 1 Derivation Inflection
N A

!/ \ /\

vV Af A Af

| | | |

Teach er tall er

Once formed, derived words become independent lexical items and receive their
own entry in a speaker's mental dictionary. With time, words acquire new meanings.
Ex. Profession means ‘career' rather than 'the act of professing'.

B2 o ki s S b (3 e psete Wb ilines SLUS O ¢ BlasYl Bag Luss
&g profession @ e ¢ ! gall 30 SLIS ods nsSS afl jg00 mag ¢ g
U ~wof profession 5 "L s sl profess jdd o cazsl oy 'uigs’ OV oo

S gl ey e il g
: suffixes 45lgd) SBLLY alusunl L8 Sliall Je sl

SOME ENGLISH DERIVATIONAL AFFIXES

Examples of derivational suffixes: fix-able, refus-al, claim-ant, teach-er, shoot-ing,
impress-ive, treat-ment, king-dom, faith-ful, presidet-ial, arab-ian, optimist-ic,
hospital-ise, brain-less, poison-ous, tall-ish, active-ate, black-en, stupid-ity, slow-ly,
happi-ness.




COMPLEX DERIVATIONS
Some words require multiple levels of word structure as in Fig. 2 below:

HAS L) oY)

D e B! e Ok sus e 0S8 SLlS) oy

G Ao ACTIVE el 1VE 3518 4a-Y BLoL (56 o) Jome ol Jad) g8 Job 2 Act
o 1 aab Bloby (kg o xd) axs e activate e ate Bloby o(dass)
(s o) Lak) (528 o] ACHIVALION prpaas 1011 G>-Isl)

Fig.2: A multilayered internal structure

/NN
vV Af Af Af

| | I I
Act ive ate ion

This word illustrates a multilayered internal structure with the attachment of an
affix to an appropriate base.

el ) ) BLoL i) saaze 2l 51l bl o5 g oMol Ul
COMPETING ANALYSIS

In some cases, the internal structure of a word is ambiguous between two
competing analyses.

Ex. Unhappiness Fig. a. N Fig. b. N
/\ /\
A \ / N
/ N\ /1 \
Af A Af Af A Af
I I I | | |
Un happy ness un happy ness

(2! 5f) Siad foloud

2SSt ¢l o) i e ST e IS 1) S 0SS Ol e
:unhappiness

unhappy gea: UN &) gy d1 o Ll 13 dde 485 happy il Jg¥1 Jkoud!
o 29 Unhappiness ool NeSS asled) s=lll o (651 1ab il 1315 ddo 2

o € 1o € 2is
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happiness zwa: Ness &ledl gl 4| Lisl 13 4de sa5 happy Hdd) 0 gl folowd!
) 329 UNhappiness mwad un &ladl g>1g e @A Bb e L @ (el sag

The preferred analysis is the one in (Fig. a). Un_ is more attested as a prefix with
adjectives than with nouns. Ex. unable, unkind, unhurt but not *unknowledge,
*unhealth, *uninjury.

Oy celeV) ey Slialls Lsls Lagy iy 33057 un oY caalll 3 Ll gn 431 o
unable, unkind, unhurt <)) Ja . L) U1 s LLSYL aslel Jaxd diw Akl
D B Bl e RS e ot sl YL b)) Lasy

unknowledge, unhealth, uninjury

CONSTRAINTS ON DERIVATION

Derivation is often subject to special constraints and restrictions.

For example, the suffix —ant can attach to bases of Latin origin such as combat-ant,
assist-ant, but not those of English origin such as *help-ant, *fight-ant.

A derivational affix may attach only to a base with particular phonological
properties.

For example, the —en combines with adjectives to create verbs.

Ex. Whiten, soften, madden, quicken, liven, but not *abstracten, *bluen, *greenen,
*angryen, *slowen.

This suffix can only combine with a monosyllabic base ending in an obstruent (stop,
fricative or affricate).

AUl by,

e [ i) Bl 353 g bgs I waz GlizsY)

Pt LB @ oW ol SIS e s ant adted g1 ¢ Sl

combatant, assistant

helpant, fightant : Js& O - S& Y ¢ SV LoV wld SIS Lo 505 Yy

Pl A RS et atlas e sl AL fas sl

tonbys 344 day OLIK e 505 en e
(Bl Loy & Sy (6T Ogk by gm) Wikl eol-T LA 0 O -y
(el (3 wabds) stop, fricative or affricate o1 G g0 055 01 —Y

pbtdgk Joadls ¢ Cais vgales oL Cadgll g~ Stop
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S e S anleily oA £ By Ll &) Oy A Affricate
A3 1) el b o -fricative 5 stop
Whiten, soften, madden, quicken, liven : &)\ alzsY) >y
alead) ISy ke en I Jso) Sad iy 22 sladl 455 g ¢ aladl 21T White
.Lsf'-t}!\

TWO CLASSES OF DERIVATIONAL AFFIXES

Class 1:
They trigger changes in the consonant or vowel segment of the base and may affect
stress placement. Ex.

—-ity san-ity [ei] changes to [i], from sane to sanity.

-y democrac-y [t] changes to [s] and stress shifts from 'democrat to
de'mocracy

—ive product-ive stress shifts from pr'oduct to pro'ductive.

—ise public-ise shift from [k] to [s] from public to publicise .

: derivation SlxaY) s>1g o b
Blse 3 pi O Sy ¢ Amte o) a8l Gy 3 A S e U ¢ (JoY1 22l
e S g k) bors
P AW das G wladl sanity ¢ e (o) i Gy sane e wdss 13 ity
S 8 pe Hte B> 202 B -
(1] d 2l [ei] e sanity @4 g Lo il -y
(~155+3) democracy : e ()55s3) v &y democrat Js cdss 3y
D s g ol
cdit sllodos -y
meA did S e sl Bl Jasl o -y
O\ padl ((sS134,,) productive : s (<S1531,) product Js wdss 1311 ive
d Aol e Jas) apaed)
C 24 sl O i) ¢ (zleskl) publicise meas (CLbL) public e dss 130 ise
o [8] ) sl st st g 9 [K] O s 15 IS s

z?}g‘f .



Class 2:
a) These tend to be phonologically neutral, not affecting the segmental makeup
of the base.
Ex. Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er.
b) These usually cannot intervene between the root and a class 1 affix.
Ex. Divis-ive-ness, fear-less-ness, but not *fear-less-ity.

sl axd)
e AR e il 350 gl Uy colpen s A Al e g Y Al ods
Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er.
pdee  d¥h Al e 5 g 0 AldS by s O S Y sl edag (o
fear-less-ity aa ol ui‘ Y fear-less-ness

COMPOUNDING
Compounding is a process of word formation in English which consists in combining
existing words to create complex words.

g.mfj.!\

The resulting compound may be a Noun or a Verb or an Adjective. Ex. :

S T E IR [P B SO JU W PR U R 2

(1) N N N N
/ \ / \ / \ / \
N N A N \' N P N
fire engine green house jump suit in- laws
\' \' \' \'
/ \ / \ / \ /\
N \'} AV vV V P V
spoon feed dry clean break dance drop kick
(2) A A A
/\ / \ / \
N A A A P A
nation wide deep blue over ripe

Note that the rightmost word determines the category of the compound. Thus,
Greenhouse is a noun because it ends with the noun house. Spoon-feed is a verb
because it ends with the verb feed.

The morpheme that determines the category of the entire word is called HEAD.




(o g Jab ol ol OISTI3]) U S 5 Gl s el ol w5 ) RSN O Lo
2alSy .house pw¥I (Caed) 28l) Lnlé OY ¢ ol greenhouse 0B oLl s ey
feed Jadl Lzulé OY = 055 spoonfeed

-head o (8io o o o) ol OISTIN) i) 50 gl g5t

Compounds can combine with other words to create even larger compounds. Ex.

P ST olS sl AT olldS e s 0) (S8 LS

(3) a N b. N c. N
/ \ /\ / \
N N N N N N
/NN /I \ \ /N 0\
dog food box Sunday night concert series v Af N

elect ion date
Notice how compounding interacts with derivation in (3c)

(3c) oo 1y Lol aaad) LIS fesy U 01 Lol s,

PROPERTIES OF COMPOUNDS

English orthography is not consistent in representing compounds. They can be
written as single words, or separated by a hyphen, or simply separate words.

As for pronunciation, some facts MUST be noted: Adj-Noun compounds are
characterized by more prominence/stress of the first compound: ‘greenhouse =
"a glass enclosed garden" vs. green house 'a house painted green’, " blackboard =
"o chalkboard "vs. black board ( a board painted in black).

Tense and plural markers cannot affect the first element in the compound. Ex. * the
player dropped kick the ball vs the player drop kicked the ball.

LS jailes

o) g 1alSST ST O Saad ¢ SLS BT Y e (3 Sdaies Wiy b s Y
AV e Waaie 1S 1S CaSS ablay S o) (=) aodle LS oy eass

oy Ado e OSU G lasU dsg O sl Sl (ol g0l gldl a2 L W
= o' greenhouse SV e L CSU e SV ) e bl (3 baal 1 s
L "85 backboard 5 ." s 05l Ogade " green house « "asl)ll 3 pdsandd
"55u3b Ogade gis 4" black board

the player dropped kick the ball : jze odly ol CSH JoWi o sl Y

.drop kicked 055 Ol (.t (e p$ dropped kick <SM




ENDOCENTRIC AND EXOCENTRIC COMPOUNDS

In most cases, a compound denotes a sub-type of the meaning/concept denoted by
the head/rightmost element in the compound.

Ex.:

steamboat =¥ a boat powered by steam.
airfield =» a field where airplanes land.
fire drill = practice in case of fire.

Such compounds are said to be endocentric.

i guS 1 g Sy g i) LS

1 &y s 93!

LIS (ol head ) o) LS (Sl alal aald o ez 055 LU el O ¢ VU (e 8
t e CSel bl gald e SN L alis G e el Bl (3 e )

Ny ¢ )b &l aall slul a9 boat s» La head JI ¢ 1= )6 € Steamboat
Sl ol gl e i 58l sl steam

e air g ixle o) Ol field s» Ls head ) ¢ @il Oldes sns ¢ las € Airfield
Dlas = sl Ol axg S i 35 airplane

s Vs drill s» s head Iz~ g Yool o131 0G Slsl Je o, € Firedrill
Sl ol el e s K5 fire 5 ey

[ENDOCENTRIC b tes sl oy LS 0 53 1n

In a smaller number of cases, the meaning of the compound does not follow from
the meaning of its compounds.
Ex.
redhead =¥ a person with red hair.
redneck =¥ a person, not a neck.
Such compounds are said to be exocentric.

NO TP

D de L CSU e a5 Y S el lee OF 3L Y- 3
A ) s Ol ed g3 oLl € Redhead

3¢ ds ¢ 0Ll € Redneck

EXOCENTRIC & fis 505 oy LS -0 gl I

Exocentric compounds allow the suffixation of —s to irregular plurals, the
endocentric ones do NOT.




Endocentric:

wisdom teeth, policemen, oak leaves.

Exocentric:

bigfoots (mythical creatures), watchmans (a type of portable TV).

Pl SR s e ol i Gl sl SN CSU (3 s B

Sysall agis dyshul Bl € bigfoots

Jse) Ll 5iex) e £ 5 € watchmans

Lesd el 0L 83L2) SISl o U (3 ad) 2alSU olS g Sl eS8 oY
bigfoots o2l | bigfeet xwas ¥ bigfoot Jas (xed s Blol Lo 0,

e s Bl K Yy dla e seh s iV S 3 e L

tooth s& teeth « i)l 1,20 € wisdom teeth

.man ;» st men .ibs Jiy € policemen

leaf ;o pod) » leaves ¢« bsldl 3a 3150 € oak leaves




Lecture 3

What is INFLECTION?

It is a change or modification in the form of a word to mark grammatical. For
examples, languages contrast plural and singular nouns by the addition of a plural
affix such as —s in English as in book ~ book-s. (The base form to which an
inflectional affix is added is also called a stem.

¢ Inflection Blisy! sals

ot om G elasl oo s BalSTeLisY 1pd oLl BLob 2l e jord) a s sn
& 2dSJly bo0oks mwas book o s Jledl g Blol sleV) e aodkl BLoly 034l

Ayl stem ed Glall Lede 5

INFLECTION IN ENGLISH

With only 8 inflectional affixes, English is not a highly inflected language.
English inflectional affixes:

Nouns: Plural —s as in books ; Possessive (genitive) —s as in John's book.
Adjectives: Comparative —er =» the smaller one, Superlative —est = the
smallest one.

Verbs: 3Person simg. Non-past —s =» He reads well. Prog. —ing=>» He is
working.

past tense —ed =» He worked; past participle —en/ed = He has
eaten/worked.

a1 @l & inflection Bl

Doty Yl Al ginflection D) wBlasl s g 31 A s L dag
books e ¢ oV Jo iy cpedl 3>V -
John’s book Je ¢ ¥ e s c el =¥ s —Y
smaller @ Jze (a2l Lo |54y ccomparative oWl =Y er -y
smallest Jze izl Ao J+oy superlative dloll) =Y est -t

He reads well |z J=i)l Lo |s25(csal) 3 person W) asills -0

Heis working Ju (i e Jsa Gl gilall =Y ing -1
He worked e ¢ =i Je J20 ¢ ol g=Yed  -v

Joe el e sy (V0 Jail) I Cagpad) Jpnil) ) 3= enfed A

.eaten/worked




INFLECTION VERSUS DERIVATION
4 criteria are often used to distinguish between inflection and derivation affixes.

: derivation 3lxi\s inflection Slixs) 3,40

comlaaN) oo gl Cules € Ay

DA = Derivation Affixes

IA = Inflection Affixes

(1) Category change:
Inflection does not change the grammatical category of the meaning of its host.

N Vv

/ \ / \
N Af VvV Af
I | I |
Book s work ed

(o ¢ Job ¢ ol 2 ) Rl i (1

ol ¥ Se) 2l Byl sl i Y 2SI e s wie inflection U Blixs)
o S Jo cdss ¢ rul book ¢ Dot JUb L sall pa Vg (e e Jedlly ddo a5 dikally
inflection e godl M ¢ Job iy ade oWl ed 5o dayy Jod work el 2 ¢
Sle el Al A5 Co

Derivational affixes do change the category and meaning of their host.

A N \) N
/ \ /\ /\ /\
N Af vV Af N Af N Af
| | I I | | I |
Heart less work en hospital ise king dom

AoVl o ) ) (28]l ¢ adl ¢ V) o) asdl) e sk derivation S Blass
"V gas” heartless cowsl less i3I Jgs die ¢« gl a9 "B" heart oMl
gl M S ) el e sald i ST A e dom Jgss e king g ide 2

.derivation _gews dlaaVl o

(2) Order: A derivational affix (DA) must combine with the base before an
inflectional affix (IA); i.e., Inflection applies to the output of derivation.

A (Y
105 ol Y e iVl i die o A D s 3 2S00 e 5y DA Glisa|

e . 3LzsY) 3 dhes 5T sa inflection
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A badis ST RS e i OY DA Bl s dom Jg> e "elle” king 215l
¥y .y 4 kingdom sxe O o 1A Glis) 2 medl s 5 kingdoms pewss Lenad O
A=>=o x¢ kingsdom SN Ojg;" ol "S&Y G-« DA J.é IAC‘QJ ol 2

Aasaua N dahla N
!/ \ /\
N\ N\
/\ o\ /\ o\
N DA IA N IA DA
I I I | |
King dom s *king s dom

(3) Productivity:
IAs have few exceptions, comparatively. DAs typically apply to restricted classes of

bases. Ex. modernize vs *new-ise ; legal-ise vs * lawful-ise ; Confine —ment; align-
ment; treat-ment; * arrest-ment; * straighten-ment, etc.

¥ (7
¢ (derivation affixes) DA Ji Ll .olslaa) jax L (inflection affixes) IA J

bl Blia) o T Lede &) JeVL AleaV) el e 839u2 35 e ks ale

(4) Semantic transparency :
IAs contribute transparent and consistent meaning to their host.
Ex. books, trees, cats or walked, played, talked, etc.

DAs do not contribute consistent meaning.

Often it is not possible to predict the word's meaning from its parts.

Ex. Actor is someone who acts but a professor is not so who professes. Government
can mean institution as in government's program but it can also mean act of
governing as in government by the people.

S ey (¢
D e RS Al Gk maog (3 el A izl
books, trees, cats or walked, played, talked
e slaeVL waal) adS aak sl S Y Baley (Ladls oAl Glolan g ¥ DA izl Ul
o professor S ¢ acts " " il jasadl g2 " lz2" Actor Jas lgas aSU sl

JiSay .professes "sdl" Jon ook gl o
OTHER INFLECTIONAL PHENOMENA

CASE: It is a change a word's form to mark change in its grammatical function (
subject, direct object, indirect object, and so on ). English does not mark case on
noun, but it does on pronouns; ex, he vs him, he met him vs * him met he.

Standard Arabic marks Case on nouns: (nominative, accusative, and genitive)

v,
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Akala Omar-u t-tuffaahat-a  fi |-maktab- i
Ate  Omar-nom apple-acc in the-office-gen
‘Omar ate the apple in the office. '

(inflection) Glixs) o 5T ¢ g
) Jin T W 3 agmse ST iAW) Bl dxge o gl ods ralasSle
el Al (3 nilly w0 )l Wl (3 Aaa)) o) ST e 10f oldle mog & Jreny
(F g e dpnie « Jeb o o) 2l Bl AN ol (A Al 35Sl
(S @l e )T) 0 Jle

Akala Omar-u t-tuffaahat-a  fi I-maktab- i

Ate  Omar-nom apple-acc in the-office-gen
N N N
Nominative accusative genitive
& i S
o Jenilly Lol e aVall gl eV Lol Lede g ¢ sletl LdSTs oSl ¢ il ¢ jas

9/

e Ju ezl 3 oldle bt ST Gl e ollall sl e s dagy Y apd LY
apall 0ds el Liie |ob " ga" he ye2ll < he met him Sas 4y Jseill o Jold)

¥ e ezt Sl Ko Se Yy Lineal ods el Uy Jgnis 92" him el
him met he Js& 01 ez

AGREEMENT: Occurs when a word is inflected to match certain grammatical
properties of another word ( t-taTaabugq). In English, it is limited to the third person
singular of the simple present; ex, He work-s very hard.

331531

e s 1S 152 Beols mo 33155 O o) n 2l 5225 01 Jaad Lot uk

He works very hard

o)l O ) (3l S asetd) he po silsd b s Ll s s work als
Llins on i d work e s Jyss 05 work e Blizsl s)>b s U he o Yoy you
Jinflection Blasl g (wo) Al g5 dg J22) gz o i dg

ot Jodl) (38 ) sl Wis ag ¢ @195 oy U1 AN 3 Bl AL odn 01 Lils

.simple present Le.J) ot ol 3 (he, she, it) s,a cJWl el jobs 599
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PROCESSES RELATED TO INFLECTION

Internal Change:

A process that substitutes a non-morphemic segment to mark a grammatical
contrast.

Ex. sink ~ sank (ablaut); goose ~ geese (umlaut). The change explained historically is
as follows:

ol A ) e Lpman 5 85l S e ol (31 pueall 2 5 (ol pmiad L Lab

a. Old English form : /go:s/ d. Loss of the plural suffix / goe:s/

b. Old plural form:  /go:s-i/ e. Other change /ge:s/ then /gi:s/

c. umlaut / goe:s-i/

Note that internal change is NOT infixing. There is no base form {sg}, {sk}. Infixing
and internal change show that morphology is not always concatenative, meaning
that affixation does not always apply sequentially.

inflection Blixay dky e Olhkes

I !

I Baleg .59t o a) (LA Joe) @l ALU 8 ST J50s Hmne O e Ades 2
D e el (35S0l Really Bl BLOL At ks T ATse OLaY 09 i
Y @pall pis forl o @ Uil B4 1 "6 2" sank e oW "Gr" sink
6L20) infiXing o ¥ 1da 0f Lke " 550" geese Lo aod) "535f" goOSE 5 ¢ oW Lo
(kS Ly 5>

Gadli e e dsd ol sTale OB U adS 3 dal B> x5 52 ablaut
.sink

A0 Jae AT alesl s U 2SI 3 plesl o) Al G s g sa - umlaut
el )Wl S & Jgoeis-if ) [gors-if s Jre ool 00
LBlaaY) olesd Lol 1l pasa) o Y s Loty aladoze cacd O ol dles

Suppletion: it occurs when a morpheme is replaced by another which is extremely

different to mark a grammatical contrast. Ex. Go " ~ went and was ~ were.
Sometimes it is difficult to distinguish between suppletion and Internal
Change. Ex. Think ~ thought, seek ~ sought. Often, it is treated as an extreme
form of internal change or as partial suppletion.
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(s ¥1 51 sy
%}UBQ@‘MWW@&W&}TWW\&&ﬁ Ledis ol
s went ay Ll L ke 2087 52 W ¢ Lt oWl 2 Lie "l GO
Iz gl 2y adl) BLaS) e My L mal) WeTE s 32l Was
o Ol jan O o ¢ pasadl g LI sl cn 3dd ey YU o
Dot i s W ) el sl e g Wl Al e

Think ~ thought,

seek ~ sought.
Reduplication: it involves the repetition of the base form or some part of it.

form).
In Tagalog, takbo = run, while tatakbo = will run (partial doubling of the

base).
IS

t e s alSTeLad) o) e Lgte e ol A ST IS ga

IS o " 2S5y s tatakbo g s ST 131" 2" takbo (Res) SJlad ax 3

Tone placement : Tone is used in some languages to mark grammatical contrast. EXx,

In Mini-Bili, a language spoken in the Congo, we find the following contrasts: zi =2
ate, while zi = will eat.

Jj,;-\ 6‘" Sl &?9
& e Mini-Bili 3 ad 3 Y L gomdl pondl o) o S o (3 pisens oLl
zi = ate, while zi = will eat. : Congo J|

Conversion: Often considered to be a type of derivation, it involves a change in
meaning and category. It is also called zero derivation. Ex., the poor, the rich, the
sublime, ( Noun ~ Adjective), up the price ( preposition ~ verb ), dirty ( verb to Adj),
run (verb ~ noun), butter ( noun ~ to verb).
Conversion in two syllable words is often marked by a shift in stress. Ex.,
‘implant (N) ~ im’plant, “import ~ im'port, ‘present ~ pre’sent.
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Jgzed!

(Jadll ¢ oVl 2 andll) g g Lalinn Jomen Wby (3 et (1 g 2alST) O Lia 552l
wle gllad LS5l ¢ adlly aall s Y derivation ) Glasl e g5 m (f) .. 3]
Dl gl Blol ey aY (el Blasy)

Lgalstal o "2l 2io 5SS el 2" T 0555 € The poor

S s 05y MLtV o 055 € The rich

VA" s 055y ¢ Maelld)” ol 055 € The sublime

Sl w3 b 055y ¢l gLl 55,2 Al 055 € Up the price

Vs e 055y e 3o 0SS € Dirty

Lokl alzaY) 3y 11SCag

t e Lasdlly aall gand bl (3 bardal) gan ¢ uelaall @3 LIS 2

Lol 131 e 055y " aas | e vl gl @ Lokl 131 ) 055 € implant
Vet e p dos

Lokl lzaNl Ay 10SCas

Clipping: A process whereby a polysyllabic word is shortened by deleting one or
more syllables. Ex., Names, Ron ~ Ronald, Liz ~ Elisabeth. In casual speech, prof ~
professor, phys-ed ~ physical education. Other forms are much more widely spread:
ad, lab, demo, etc. Recently, we find internet-inspired creations such as blog
(website log of events).

() ool

e .L@u;ﬂ}\cuaa,uﬁw‘cbu_ua;m_pm\g_m@j\ﬁ‘ﬁwﬁ
ghil 3 jlast LY | Elisabeth ;s asdis ¢ vl Liz « Ronald e 2eis ¢ ol RON
DU ey cwls

prof ~ professor,
phys-ed ~ physical education.

ad, lab, demo : jLaxsVl denly U1 dzeVly

"website log of events” blog Jt ¢ pdadl jseb e coasle copV¥I O o>y

Blends: They are words that are formed by blending non-morphemic parts of two
already existing words. Ex., brunch = breakfast +lunch, smoke = smoke + smog,




infomercial = information +commercial, ginormous = gigantic + enormous, bit =
binary digit, modem = modulator + demodulator, etc.
g

D gt ST LS il dle) SLST s il e
breakfast + lunch € brunch
el Al a3, 11K, . fog + smoke € smog

Backformation: Creates a new word by removing part of an existing word. Ex.,
Resurrection = resurrect, donation = donate, enthusiasm = enthuse, etc. Ex of
new recent such creations are: liaison = liaise, allegation = allegate,
administration = administrate, aggression =2 aggress.

gw-\ S

D e sl o eS8 (affixes) gl Wl b e 2dST LSS e 3le ooy
.jon a=>J 234 resurrect € resurrection

donate € donation

administrate € administration

codkel alzaV) 3z 10SCas

Acronyms: They are formed by keeping the initial letters of some or all the words in
a phrase and pronouncing them as ONE word. Ex., UNICEF = United Nations
International Children's Emergency Fund, NATO = North Atlantic Treaty
Organisation, etc.

Oyl
Ghatiy sy LalS” LSad 3lall o SIS IS7 o) amy e JIaV) 29 A ds) e il on
D Jge iy AudSS
Dbl e G gl e Ble oy (s sk € UNICEF
United Nations International Children’s Emergency Fund
SJLJJ\ o waUJ JJ,}- Jj‘ O 5)\.& L;hj ”}5\3” JJQJ é NATO

North Atlantic Treaty Organization
Word coinage: Common for names of products. Ex., Kodak, Teflon.

N
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MORPHOPHONEMICS AedSIL Akt o) (3 gaad) 1ysY)

S Ay W LSS ol s

et 25 05 JS hunters : Joe aalSU adssll <21 52 € morpheme

an sa Joo cdaally ol e U gy dslgll odyoald adlesll s o € allomorphs
(2] Bl ([5] Bt 35 xadl 5 o (bppll) sl ok il ooVl s Liasly 3 S0
[iz] Lt

Ib] s [m] Jas 3l 3 s 30> ro) s2€ Phoneme

e o) S

Morphemes and their allomorphs

Is every morpheme pronounced the same in all contexts? The answer is NO. Many
morphemes have two or more pronunciations, called allomorphs. The choice
between them is determined by the phonological context.

giles B D31 5 kST 13

it Gl pad s o €aBy Bl ol 3 gladl s & 05K MRS e s (ityee) ST S
ilat! 3 B 5 @ 5 penl] S5 RIS ) 3 220D

IS Bl sa slad) sat sllly sl e ST 06 Sladyll e S LY Ol Tab

(allomorphs jsssl s (sda ailisll ladl 3 1)

Examples 1 : The plural in English
How is the plural morpheme in English formed?
Answer, by adding —s to the singular form. Consider: cats, dogs, horses. As is well
known, English spelling does not reflect pronunciation.
This suffix has three allomorphs: [s] as in cats, lamps, [z] as in dogs, days, and [iz]
or [az] as in horses or judges. The pronunciation is predictable on the basis of the
phonological context :
= Sibilants ( hissing sounds) such as horse, rose, bush, church, judge, call for
[iz]
=  QOtherwise, when preceded by a voiceless consonant, [s] is used as in cat,
rock, cup.
= QOtherwise, when preceded by a voiced consonant, [z] is used as in dogs,
days, birds.

Bk Al G aedt 0 Jo¥1 JEb
Qzﬁ%ﬁ‘dc&\ww(@&
.cats, dogs, horses @ |z 3,4l dae 1) s L) BLoL 1 g
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Lots gladt oSy il V1 S o jleeVL dsY) &
: o «(allomorphs ;3)ll) aile 3l juo SO L ol med) di>3

[s] as in cats, lamps, [z] as in dogs, days, and [iz] or [az] as in horses or judges.
Dt kol sl Lgde s @) 2SI Ganall Bl o ikl 2h ey 5l SCs

(il ¢ mnl) 3088 (At 9 pho 93) S madl S 1B ol 13 [iz] gl -

J‘”(t\ g
horse, rose, bush, church, judge
D Jue voiceless Gshis pb Sl O modl s L5 ol 131 [5] ghs -
cat, rock, cup
M voiced sk (STe O madl s S el 13 7] gles -

dog, day, bird

Example 2: How is the past morpheme -ed realized phonologically? [t], [2d], and [id]
or [ad]

SiplEY 3 oWl a1 ) JU
?m\@@bmwed&b@kaﬁf
W SleeVL gl

[t], [2d], and [id]

Is Allomorphy a matter of phonological conditioning only?

Yes, as in the cases above, but NO for others.

Consider the word lie. It ends in a vowel, a voiced sound and therefore forms its
plural lies with [z]. However, if we replace [z] with [s], we get an actual word lice, the
plural of louse.

$hi olled §aedls Juo sVl hiy wgall slas dlus s allomorphs 35l fs
ool UL 8T SV (3 el g

RUIES NCON[PRE R RSP I

o2 lies sa iy (Voiced Gshas) g () ale B2 25 ¢ "0dS" lie 2udSW laed
et lice Wik ey s [s] 2 Y bl Lsp LT [7] e 3>V

Vakei" louse o med

Grammar also accounts for allomorphy in English.
Consider cliff and laugh. Both form their plural with [s], cliffs and laughs, but wife
and loaf do not, *wifes, *loafs are ill-formed. Their plural is wives and loaves.
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Similar words that change their voiceless consonants f, s, th to voiced counterparts
v, z, dh are : knife ~ knives, life ~ lives, path ~ paths.

Notice that the change is restricted to the plural morpheme: "my wife's car" does
NOT undergo any change.

z

e " sesll" alns Ly o5 AV Al el
sy loaf 5 wife S cliffs, laughs « [s] )l Glay gt e cliff, laugh LS

loaves s wives } loafss wifes muas ¥ sedl dis ¢ sl oii b
voiced g~ I f, s, th : voiceless Gse ¥ oo SLl B4 wse pis 5T ollS

PPV, z,dh s e ilen

knife ~ knives, life ~ lives, path ~ paths
(A ULl me pin Yy a8 (rdyse) R BLO| pa Lo 0S5 il 1 OF oY

.my wife's car : |z




Lecture 4
MORPHOLOGY PRACTICE

EXERCISE 1: Circle the correct answer in the following multiple choice questions:
Dieal) DY) e 3515 a1 JgY) el

........... 2 i A Y Al sl g dx) 20

1. Morphology is the level of grammar concerned with the ...............
a. Structure of words ~ 4elSll 4.3
b. Stricture of words
c. Status of words
d. Structure of worlds

............ Tor 0685 Leilany LS el o Loy I Y

sl L) &“;3*-“ Ia O) aeld 4 wjlo z> J>18 o oY Loy ?q\;f@.xj [EYVPPS

(book
2. The association between most words and their meanings is purely ..............
a. Controversial aliig
b. Conditional Ly pia
c. Central SIS e
d. Conventional e

........... WL« A e adS (derive) suis L. v

3. When we derive one word from another, we ..................
a. Change its class, for example, from Verb to Noun
(u.n\ i Jzall Jie ¢ 4K 258 PrCt]
b. Change its tense, for example, from Past to Present
PBM‘;.AM\JLc )ty
c. Both of the above
o Laa S8
d. None of the above
Uas Laadis
o &S a5 Ul e o)y derivation Sl Glizsl g e Jlaw @ (7) Jiged s (3 LY

LAYS ) Lalins

C Ol Jigadl s el = VY 500 ¢ ¢ 50ld) 3 A Oldl e8I > Jigud) s 4
O ade ey Qs VY 3 2 i A il b e8I o 8,800 8,018
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4. Roots are ......cecuuet )
a. NOT always free  3,a Laila caud
b. Always free 5a Ll

c. Both of the above tssaa Jlilay)
d. None of the above (bl Lads

............ le.cggj:&:- idS sa S0

5. A compound is a word that contains ...............
a. One prefix and one word
b. One suffix and one word
c. Two root morphemes and one word
d. Two free standing forms

A sne e S e (3 ealey I (dsH) A A L A

6. cererereneene is a morpheme that makes the most significant contribution to a
word's meaning.

a. The phoneme

b. The derivational morpheme

c. The inflectional morpheme

d. The root
Jaliaey LISl g (el d’w\u‘t}’f“ ......... WV
7. e is some kind of resemblance between the sound of a word and what it
denotes/means.
a. ldiom
b. Proverbs

¢. Onomatopoeia
d. None of the above

e il Lbang @ e ¢ o) sy ol S8 ) sl 0 £ 2 OnOmatopoeia
D) s o) olo )l dil g

........... 93 e ) il s jaisadl A

8. Suppletion occurs when a word is represented by two or more .................. roots.
a. Different
b. Similar
c.Bothaandb
d. None of the above

YA



derivation dlixs) yew &)l SIS dsgaz 7519

o a BYY e ol 2l Ll 4k o derivation
9. Choose the group of words that result from derivation
a. Cry, cries, cried, crying ()l Jadd aall o) 238} 8 jpidaa 0 Y
b. Kind, unkind, kindness, kindly 43l & juai 4.8 La
c. Tooth, teeth  ges hadd ieall o) 28l & jpad o g
d. None of the above

iy
EXERCISE 2: Divide the following words into morphemes and morphs.
Examples: (i) truth morphemes: {true} {th}
(ii) barefoot morphemes: {bare} {foot}
(1)
a. research
b. butterfly
c. holiday
d. morpheme
e. phonology

EXERCISE 3: Some words in (2) contain suffixes. Identify the suffixes by circling
them.

(2)

a. happiness

b. freedom

c. flowers

e. brother

e. blackboard

EXECISE 3: Some words in (3) contain prefixes. Identify the prefixes by circling them.
(3)

a. unable

b. discourage

c. establish

d. receive

e. strawberry

EXERCISE 4: For each word below, indicate whether the word is morphologically
simple (S) or complex (C), or includes an inflectional affix (IA), or includes a
derivational affix (DA) by circling the relevant answer. S => simple, C=> Complex,
IA => infl. Affix, DA=> Deriv. Aff.

a. rider S C A DA
b. colder S C IA DA
c. silver S C IA DA
d. lens S C IA DA




e. legs S C IA DA

EXERCISE 5: (i) Identify the root in the words below by underlining it; (ii) State the
syntactic
category it belongs to. Example: friendly: friend (Noun)

lamps
kindness
hinted
players
grandfathers

® oo o




announced representation

SYNTAX uess

different OBJECTIVES recorded phrases
variation attendance

derivation | ahaweelwords

X'-theory
multiple {€S1 syntactic Grammar set Evaluation

clauses Forum tOtal later internal main

vs  morphemes parts choice choose
date three Proyjde Blackboard t}fpes
options exact common time "¢ structure

Inflection five mmark ldentify ?gc%tures

Distinguish Complement fj 4| paé%gﬁ;ﬂc some

ble
asmgnmgnts COURSE basis end

consists q,estions constituent assigned
Categories TahaweelTahaweel

participation sentence




Lecture 5

Part II : SYNTAX

The Analysis of Sentence Structure
dlaal) oS 5 Jalas

What is GRAMMAR?
It is a theory of language which attempts to characterize the structure of language.

Saalll Aelgd PY

Laely ek JolE iy i) 3 5

All languages have a grammar:

= All grammars are equal because ALL languages are acquired unconsciously by
all children and at an early age. Indeed, a child is capable of learning any
language. In other words, humans are endowed with a Language Faculty, an
initial and universal program, that enables them to acquire any language.

= All grammars are alike in basic ways = UNIVERSAL GRAMMAR.

= A grammar is the characterization of the tacit
TACIT/IMPLICIT/UNCONSCIOUS knowledge that native speakers have of
their own language.

P L&awj\@?f
S e 3 JUbY) Blulyy oy O kot g OY Bgloce i)l 1ol o -
IS Dl s & omsrse S c T 2SS LA (ol e e 09,36 JUb Yl
A ol Joamd gt (e malpy S
e delg € bl Ko aglize oW 3 asledl) S -

AL bl e 2ol a2l B aal) wed s aslsdll -

The Organization of the Transformation Generative Grammar
A Grammar in this sense is essentially an INPUT/OUTPUT system. It consists of:
¢ LEXICON: a mental dictionary (information on words: pronunciation, form, and
meaning).
+» COMPUTATIONAL SYSTEM: operations that combine and arrange words in
particular ways. Two main modes of operation/structure building: MERGE and
MOVE.
Merge is operated on the basis of information from the Lexicon and a theory
of phrase structure known as “X” theory.
As for Move, it is the operation of displacing elements around in a structure.

dalll uslgd W g ddes

e O}gii Cb;—‘g\/db—;'ﬁ\ (~LL_, L;!— Lol Eo ¢ ;\.,\7- au.:.wLwT %JL\ oda &) J&\}EJ\




o= e Gl Sleglall Bl o bile (M) 1D wgel iLexicon skl -
odd MJE dorgr LA 3\.5.3)]4: LIS 79 - olles P éyu-\ fUa.J\ -

i)

cmall pa 8595 W (5ag 2alST) 2l Slaglall e ahes 2 tmerge o)
Xk o (AT RS e Leny ) Blal) 0S5 2 i
Bl & joliall iy mog sole] 2 imove cly )

CATEGORIES AND STRUCTURE

Words can be grouped into a small number of classes called syntactic categories.
This classification is based on their meaning, type affixes they associated with and
the structures in which they occur.

3".‘."'.‘3\} azal)
g5 ¢ el e e Gaadl e el Sl e B Ol 3 OIS ke S
RUINCUPR VRN PSP (S ) REN LN TR VS AU A

CATEGORIES OF WORDS
Categories of words are classified as either LEXICAL or FUNCTIONAL.

¢ The Lexical categories are Nouns(N), Verbs(V), Adjectives(A), Prepositions(P)
and Adverbs(Adv). Ex. N: John, Ali, courage, book; \V: come, go, discuss; A:
good, bad, tall; Adv: badly, quickly, hard.

% The Functional categories are Determiners(DET), Degree Words(DEG),
Auxiliary Verbs(AUX), Conjuctions(CONJ), etc. Ex. DET: g, the, this; DEG: too,
so, very, more, quite; AUX(Modal): will, would, could; AUX(non-Modal): be,
have; CONJ: and, or, but.

SIS eld
iy Ol g demens ol 1 ) ol G
DR damal) Ll —
John, Ali, courage, book : s « <Y Nouns (N) =Y
come, go, discuss : i « JwY) Verbs (V) —Y
good, bad, tall : | « ol Adjectives (A) —Y
bout, across, after : | « &1 29~ Prepositions (P) —¢

badly, quickly, hard : Jz ¢ JW\ Adverbs (Adv) —o
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Dk bl ol -
a, the, this : |t «ols4s) Determiners (DET) =
too, so, very, more, quite : | ¢ o=l &S Degree words (DEG) —Y

will, would, could (Model): Jo 3islus Jlesf Auxiliary verbs (AUX) —Y
be, have (Non-Model)
and, or, but : | ¢ (0)8Y) 4l) Cakesl) Conjunctions (CONJ) —¢

One Source of confusion is that one word can belong to more than one category. Ex.
Near and Comb.

D oedS By i e ST U e O K8 g 2adSTO1 g WLV il
T Y @ U d Ogs S B A 3 okl near
o JUl (3 e g 8 (3 el Slelr 1 COMb

1. The boy stood near(P) the fence. 4. The woman found a comb(N).
2. The runners neared(V) the finish line. 5. The boy should comb(V) his hair.
3. The end is nearer(Adv) than you think.

How can we determine a word’s category?
By considering its meaning, its inflections, and its distribution.

RS L) oz g Bl sud 01 Ss aS

P Bl g Lgilana) ¢ 2SI gme ¢ oo IS LaeVL A5G

MEANING:
- Nouns name or denote entities; Ex. people (Ali, John) and things (book, desk).
- Verbs denote actions (run, jump), sensations (feel, hurt), and states (be,
remain).
- Adjectives designate a property or an attribute of the entities denoted by the
noun, as in (tall building, tall man).

- Adverbs designate properties and attributes for actions, sensations and states
denoted by verbs. Ex. Manner Janet left quickly. Janet left early.

oy

book, ) ss3 eleT (Ali, John) ol sled 2o (SIS Je sle IS o) ol © NOUNS <le!
.(desk

A e Jsbey ¢ (feel, hurt) jsni e Jsleg ¢ (run, jump) J= e Jsls : Verbs Yl

.(be, remain)




(tall building, Jt wb &) Ll S ol Jallas U1 5sn 0 Adjectives olia
s Giog Olial Lz b ctall man)

D Ay slally JWY) ol aflas ) 5en 0 Adverbs JU
Janet left quickly. Janet left early
Sl Gav g JB jLassl

However, meaning cannot always determine a word’s category.

Words such as difficulty, truth, likehood; do not refer to entities in the strict sense.
Similarly a noun such as push may denote an action in “give someone a push”.
Further problems arise with different categories having the same meaning such as
like(V) and fond(A) Mice like/are fond of cheese.

adias e Jws b Ll ) ol (S
B8 el (S) wseS Je Jw Y difficulty, truth, likehood |xe LS
.gave someone a push :JW Ju) (3 | Je Jo ol ‘_,5\: push - G5 alig,

Dt T as 3 sl b Wb 0SSy 38 3 RS pusn Ldis gl (o5 ST
like(V) and fond(A) Mice like/are fond of cheese.
INFLECTION:

- Nouns are inflect for plural =s and possessive =‘s ; Ex. books, John’s.

- Verbs inflect past tense —ed, progressive —ing and 3d singular —s ; Ex. Arrived,
arriving, arrives.

- Adjectives inflect for the comparative —er and superlative —est ; taller, tallest,
faster, fastest.

Inflection J! @uiiY)

D e el S0 18 O B el 'S g el s Ledle s 2alST) Lty 131 -
books, John’s

el s gling Je exdl gLl ol ed s oWl I Jsomd) 2SI s 1515 —

Arrived, arriving, arrives t e L b & 2 4l eJul

t e e B 0 2l e est Leaadly er @l g-1gY sy —

taller, tallest, faster, fastest.

However, even infection fails to provide a word’s category in some cases such as:
*intelligenter, *beautifulest. Also some nouns cannot be used in the plural such as:
*moistures, *braveries, *knowledges.

rte c OV e 3 LIS ol Wi 3 e inflection J) Blisl s> cl3 xa

Aozt - S& Y beautifulest .er \gle |4 N = intelligenter




LalzaY) dlyg .S 4 Lgaa Ji.c Y = moistures

DISTRIBUTION:

A more reliable criterion for determining a category type involves its
distribution, meaning what elements (especially functional categories it can co-occur
with). For example, Nouns appear with DET, Verbs with an AUX, Adjectives with
DEG; Ex. A car, the book ; has gone, will saty ; very rich, too big. Of course, we can
also predict that the following combinations are not possible: *the destroy(V+DET),
*very arrive(DEG+V), *will destruction(AUX+N).

sa.,bjj\ !
Lo B3 ST ol e s Loy gl Adbsll sl s Baeal) ldSas ud g
: Slee L azd))
Aua ko)l 42dll o Determiners(DET) «lsdstl Log s Noun(N) e Y1 pezeald) 22l
Auaboll axdll e Auxiliary verbs (AUX) sdsludl JWoNU Lo, Verb(V) Jadl) duemall azdll
bl azdll - Degree words (DEG) Ly Adjective (A) diall dramall dzdl)
A car, the book ; has gone, will saty ; very rich, too big : dzs
D AU LY B pin L OF ot ks
*the destroy(V+DET), *very arrive(DEG+V), *will destruction(AUX+N)

PHRASE STRUCTURE

Sentences are NOT simply formed by juxtaposing words like beads on a necklace.
Rather, they are a hierarchical design/structure in which words are grouped into
larger units called phrases. In a sentence like: The doctor examined the patient. The
words the and doctor form a noun phrase(NP) and the words examined and the
patient form another verb phrase(VP). [the + doctor], [arrived + quickly].

The traditional syntactic analysis the doctor is the Subject and arrived quickly is the
Predicate®.

8yl Ay
dpes Wl Wl on oa 3REL (3 ST e o LS Cideany S Y e
Ste . I drazg K85 Sllally @hle o 181 Slimy (I leread 2 LIS
The doctor examined the patient
a5 examined + the patient <lLdSly ((NP) 4l &)L |Sis the + doctor w LS

(VP) &l L




& examined the patient &le o ¢ Jed * the doctor & o) odd (guad) fuld)
(el e a3 gl s T 9" adedll aked) 1) predicate

X’ SCHEMA

A phrase can be broken down to 3 parts: a HEAD, a SPECIFIER(SPEC), and a
COMPLEMENT(COMP).

Arranged as in the schema below:

XI ! I 2
oSl 5 SPECIFIER(SPEC) 54| 9 HEAD Lol isharf o5 ) Lsid S 5Ll
;AW Lbsd) (3 ST (55 .COMPLEMET(COMP)

XP
/ \
Fig. 1; X’ Schema SPEC X
/ \
X COMP
HEAD

The schema above captures the following generalizations:
1. All phrases have a tree-level structure (X, X', XP).
2. All phrases contain a HEAD, X.
3. Ifthere is a COMPLEMENT, it is attached at the intermediate X’ level, as a
sister of the HEAD.
4. If thereis a SPECIFIER, it is attached at the XP, as a sister of X'.

ribe @bl alasell P.@.és
X, X, XP) AL 4 el Ay B o)Ll &)

X CHEAD ) Jo @s2d ol s Y
AN e 8 bbsl) e bl sl (3 X IU Jage 055 (COMP S g 131 Y
.HEAD

XN A s TXP L Lage 05 548 SPEC 542 dag 131 .8




Lecture 6

HEADS
The head is the obligatory nucleus around which a phrase is built. X in the
schema above can be N, V, A, or P. A head can form a phrase just by itself.

!

05 O o8& (sl 3, 5120) Labasill (3 X J6 5Ll LS (5495 53529 Head )
_bh}'&)@cd&f@o\o&uwi‘)ﬂ (‘)At_e);ca.saasda.ss?.u\) N,V, A, orP

Fig. 2: Phrases consisting just of a head
tbos ) e Ll YW olla

NP VP AP PP
I I | |
N’ Vv’ A’ P’
I I | |
He likes books all animals eat she is certain he went in

SPECIFIERS
The type of Spec in a phrase depends on the category of the Head. Det serves as
Spec of Ns, preverbal adverbs serve as Spec of Vs and Deg as spec of As.

RIENe]|

JU Dby (N ool pazt DlsdBl o g5 58 DET 5. o)) 38 e doxmy 3)Lall (3 5031 ¢ 5
ksl LA 3all 304 DEG oyl SlalSy ¢V Jadll saz Jadl) 13 gl )

Det =» Spec of N ; eg: a, those, my, no, etc.

Adv = Spec of V; eg: never, perhaps, often, always.
Deg = Spec of A; eg: very, quite, so

Deg =» Spec of P; eg: almost

Syntactically, Spec mark the boundary of a phrase. In English, they occupy the
leftmost position in a phrase.
Semantically, Spec make the meaning of the head more precise.

Bl 3l bl o apd Y1 3 Bl s o gd

.Head JT}U i8> J‘if\ S k;ja"j c@}d
NP VP AP PP
/ \ / \ / \ / \
Det N’ Adv V’ Deg A’ Deg P’
I I I I | I | |
the books never overat quite certain almost in
Bl gme om g ¢ Ll 2Bl 5uS) 50, the 52 su2) books s o the books @ Jz




COMPLEMENTS
Consider the following more complex phrases:

S
W T s ollall LeeVL sl
a. [a picture of the ocean] - NP b. [never trust a rumour] - VP
c. [quite certain about Mary] - AP d. [almost in the house] - PP

& &Y Ol &) SldSUly Heads ) o2 2 0L & LIS ¢ odlel Lt 3
COMP =S 2 351 O5llL glly Spec olsast!

In addition to the Specifiers and the underlined heads, these examples contain
COMPLEMENTS. These are phrases which complete the meaning of the heads.
Complements are semantically selected by their heads. Syntactically, they are
sisters of the selecting head. The 4 examples above conform and illustrate the X’-
schema given above. Ex (a) is given below. (Try to draw a tree diagram for the
others.)

LSS ol o WS oMK o (528 2L AseVl ¢ ugslly lsdml) LAY
S

s e S g

AN oty ol o gl

o5t O Jyl-) a oY) Jiall JW lasd) (ol ST X Lok oS aLd) ag, Y alzad)
R

NP

/ \
DET N’

| / \
| N PP
a picture of the ocean

THE MERGE OPERATION

We can formulate the following operation for sentence building:

MERGE: Combine words in a manner compatible with the X’ schema.

The merger operation follows a mode of application which is bottom up and right
to left.

CA.\J\W
Pk akd sl dles Lo Se

SURAEC R F RIS HI N TP S a1




Dbl A el oy SV 1 Talasl) i e e e fs

SENTENCES

The largest unit of syntactic analysis is the sentence. Typically, sentences are made
up of an NP (the subject) and a VP ( the Predicate*). These two phrases are grouped
together by Inflection. | ( for short) is the syntactic head of a sentence. It stands for
the Tense element of the sentence. On the other hand, because of its central role in
determining the meaning of a sentence, the verb is said to be the semantic head of
S.

Aot

By ¢ Joldll plie psi NP 2l 3lie n 058 Bale alad) a (gomdll Lol (3 302y 1S
BLiaY plusuial Lagin madl o o)) oday ¥ Predicate J) (2heh) 22) a5 VP 2da
&y e o) el oy o dhenl) goedl w1 e Ul | sz nflection
Al gee (3 bl o Bad) 3 gkl G g a0 5T il

Aol 3 o b 81 A sl aled Chog ol o) Caos ) ) o ¢ predicate )l ¥

s Jke cJﬁlﬂ\ j§9

The man from the shop m
N o Ny == ]
" T

subject predicate

“ stole my bike last week.
N P
B S

subject predicate

A simple sentence structure is provided below:

D A I (3 e e ol Lol

IP
/\
NP I’
| / \
| I’ VP
I +Past |
Mary laughed

(Notice that the verb’s ending and the tense feature do match)
(Oslgze ol jaisy Jadll g M 5= O oY)
= Advantage of this abstract analysis is that sentences have the same internal
structure as phrases.
= Asa head, | is obligatory and this accounts for sentences being necessarily

tensed.
= |jis a natural locus (position) for Modals, i.e. In between the subject and the VP.

N d
.e-’_\)@gx{;,

S



= Reduces the burden of language acquisition.

Bl S et ) LS O o] jansdl Lol s Lendy 31 3500 @

S 35y Vb Dol DUl 3 A Ly n (g s e ) (1) Inflection 3 @

Aladl 5Lally felill Cny Laség Modals Jiasl Jo-ld medell sl oo (1) Inflection JI ¢

TESTS FOR PHRASE STRUCTURE

Words are grouped into constituents. However, how can we sure of the
correctness of a particular grouping. There are syntactic tests to confirm
constituent structure. These are:

Syl Ay yLas!

ST 2 Sl drgy Asgadl B e IS LS a8 ST cle 3 gt ST

R P S E

+* The Substitution Test

X/
o0

Replacement of the entire constituent by ONE word such as they, it, there,
do so. In the example below, THEY replaces the NP children and DO SO
replaces the VP stop at the corner .
[The children] will [stop at the corner] if they see us do so
The PP at the corner can also be replaced by one word namely THERE.
They will stop there if they see us do so.

Jdzal jles!
.they 2 The children &= 5,Lal Jlozw) e RECH] LSS 5Ll oS sl oa
eV 5Ll Jaas QW JU (3 .they, it, there, do so e LIS ol Jhzs

.do so + stop at the corner i)l 3,Lall Jozig they 4 the children
[The children] will [stop at the corner] if they see us
D aled! eass Lthere ; at the corner A 3l Jlzal Sy
They will stop there if they see us
Laldizal bl G sa s ¢ gall Slalang 301 LS S LIS Jldzs) s

The Movement Test

The PP at the corner can be shown to be a constituent by movingitallto a
different position in the sentence. = Movement test

They stopped [at the corner] = AT THE CORNER, they stopped. But not * at
the, they stopped corner




Syl i
Zse AT SE Ll gk e 5)lall ada B L S& at the corner 4 3,Le
P e L alad] e 2T
They stopped [at the corner] > AT THE CORNER, they stopped
Sl Beo Jo oy ¢ el 2l Lo il L Leld I they stopped ds: s 3Ll LlE

395!

+»+ The Coordination Test
A group of words forms a constituent if it can be joined to another group of
words by a coordinating conjunction such and, or, but.
The children [went to the playground] and [stayed there all day] (The
coordinated structure is VP).

Ly Ji e

tJee Lbut gand Jae ko)l olgs) plasaly A ke U leer b oF e dmp LS o
children [went to the playground] and [stayed there all day]

VP ade ol jle rf\j ol by ol ef by N jlas) b e




Lecture 7
PRACTICE EXERCISES

EXERCISE 1: Some of the sentences below are ungrammatical. Can you figure out
what makes them ungrammatical ?

Lot e Cpadl wbard Jo cAall) Aol 20 o s 8 AU L) 2m 19 (el
e d s (Bl Lalgily JLV) alasiinl Gasesdl chme o doany JIsdl) Tl

(ALl gyl el ys gl delsalls

A pld bl da s Jisdl a0l g b 58T b S Jok Ul -

(1)
a. The instructor told the students to study.
b. * The instructor suggested the student to study.
c. The customer asked for a hot chocolate.
d. * the customer requested for a hot chocolate.

A .d
b IV sl e (S pYIS ) s 6 LD
3 A I ) 52 Ala PP 0SS, O ot suggest Jadll oSl 0
.suggested to the student O).{J s suggested the student
Aoeoe LC
pldsninl damd il (gl o) e ales JQ asked s2lb 4.iy requested .d
 for baa 3L Y request oS ¢ for 4 45 85,2 Al Laday 3L C Ao (3 asked

.requested a hot chocolate s» x>l

(2)

The pilot landed the plane.
The plane landed.

A journalist wrote the article.
* The article wrote.

Jerome is tired of her job.

* Jerome is satisfied of her job.

.satisfied with & C’*‘"‘“ﬂ of Ladw db Y satisfied ads” o) .f

s0 o0 T

EXERCISE 2: Indicate the category of each word in the following sentences:

AU o) (3 2alST ST ) 2l sus gl g el

%‘? £y



a. The glass broke.

.verb = broke «NP = the glass ¢« noun = glass ¢ Determiner = the .a

b. These tall trees are blocking the road.

verb =blocking « auxiliary = are cnoun =trees « adjective - tall c determiner -these b

.noun = road « determiner = The
c. The peaches never appear quite ripe.

= never (NP = the peaches « noun = peaches . determiner = the .C

«determiner(word degree) = quite « verb = appear .determiner(degree word)
.adjective = ripe
d. I will see you when I finish.

e. ldon't like that.
f. Some students always complain.

EXERCISE 3: Each of the following phrases consists of a Spec and a Head. Build a
tree for each one complying with the X’-schema.

JKs Je axio Specand Head oy 342 o 055 &Il llall o 70 GBI 501
X kb2 L slaxeVL 6 i

The zoo

This house

so witty

Quite cheap
always try
never surrender
Less bleak

very competent

S@ e o0 T

NP

Spec N’

AP the Z00

Spec A’

/ I
/ A
quit witty

ala o s JA—\ U3V quit 2 s0 Jdzw! Sl




EXERCISE 4: Each of the following phrases consists of a Head and a Complement.
Build a tree structure for each one of them following the X’-schema.

~y o5 head and complement JoSlg )1 a0 W Lokt o JS7 10l J1 0l
(S5l Ao d 5@ = oSl 7 50l a))) X bbbl 5

Into the zoo

Full of mistakes

Fixed the telephone

study this material

Arguments about the elections
Success of the program

0 o0 T

Full Trees
. NP
N
rr
|
NI
|1.
Dv|at N lP Fet |N
|

the books about the war
c. PP
PI
NP

I

Deg PP Det N
| . |

almost in the house

IX'.&B;@;QL}PU&AY\U@&J\

AP

Deg A r N
| | | l

quite certain about Mary

Figure 1 Other phrases consisting of a specifier, a head, and a complement

‘o




a. VP b. re

V' I
P
N‘
V  Det N P Det
[ I | |
eat a hamburger in the

Figure 2 Phrases consisting of a head and a complement

Ve

NI
|

V Det N P et N

| . . |
put the book on the shelf

Figure 3 A verb with two complements

£

A

house




e
I
NP VP
|
N V!
Det N st V cPp
| | |
the coach knows

VP

|

V'

|

C Det N st v

| [ | [

that the team will win
whether

if
Figure 4 The structure of a sentence with an embedded CP

FIGURE 5: The structure of a simple sentence:

IP
/\

NP ’

| /\

| | VP

| [+PAST] |

I v’

| /\

N V NP

JOHN ATE THE APPLE

NOTE:

= The SYNTACTIC head of | is the abstract morpheme [+PAST]. As a tense
morpheme, it must be associated with a verb, hence the complement status of
VP.

= The SEMANTIC head of the sentence is the verb EAT. It is the verb that selects a
subject that can indeed perform the action of eating and the Object Apple, which
can be eaten. Indeed, a sentence such as : The tree ate the sea perfectly
grammatical but it is SEMANTICALLY anomalous, to say the least.

W:,
fog)
,\J

o

£y



rib>Se
Lo O ot o) bysn [4PAST] oWl (dyp0) a5 | 5 oMol aladkl (3 gl ol J1
VP I oy JLasT Lgiag ¢ il
Jrb Jols s ol g aked) ol (3 Ledll OY ceat Jadll o oSlel akodt (3 (gguall ol J1 -
D e T ale Gy apple o U1 SV b ade 3y ey eaten SV
The tree ate the sea perfectly
e LN B T
(3 ol 3,0 STl i Al SUS5)

EXERCISE 5
Instructions: Use at least two tests to show the constituent status of the following
bracketed strings:

1. We ate our lunch [near the river bank]

2. The [computer was very ] expensive

3. John loves [ peanut butter and bacon sandwiches ]

EXERCISE 6
Instructions: Provide a syntactic representation for the following NPs. Justify the
Complement or Modifier status of each of the NP- internal. Justify the Complement
or Modifier status of each of the NP- internal.

1. A specialist in fibre optics from Paris

2. The girl on stage in jeans

3. The failure of the program in recent years




Lecture 8

COMPLEMENTS
CJM‘
COMPLEMENTS
= Complements are obligatory constituents that are selected by a given head. This
head can be a Verb, Noun, an Adjective, or a Preposition.
= Complement selection is both semantic and syntactic. When it is syntactic, it is
termed SUBCATEGORIZATION. Such information is encoded in the form of lexical

entries / subcategorization frames that include phonological, semantic and
syntactic properties of lexical heads as in (1):

S
¢ Jub 0 0 Kehead ) s Lhead o)) 8 e Wyl o g, el o oSS -
RS N LV e
B P i e ($52 O Ladis g g 55F Al e L JaSU Ly -
i pallas et Sy (Gl SLST 35 o) Gpamall Lo 1) Slaglall s o2
(1) U & WS head o)) b &5y dsine

(1)

DEVOUR:  Cat(4dl) v & Al daalal)
/divaua/ & A pall ualdl)
‘EAT HUNGRILY’ € 4 5inal) dpalall
I—
[+ edible]

We thus predict the contrast in (2) in which 2a does not include the NP direct object
of the verb:

(2)
Bl du (dedl)JeSs
/\ VA

a. The boy devoured the sandwich
b. * The boy devoured. € JaSall (52 Saall 28365 g3) Cua A8kl dleas

& snde pow NP &) 3)le e (552f 22 O & < 2b 923 C Gl Lo OF oz
2b.3 4 dynde g Y L ol ey 21

Jrdlly (els) Wl . ggailudl IST WUl The boy devoured the sandwich ¢ edsl Jukls
LSl g JIgdi s e g\t sl devoured what? § ST 13L 4 devour QERERY

(5)9 P 035 (ane Dok A el JoSU 8949 cthe sandwich




1. Complements options for the verb
As a verb can take more than one complement, our XP rule needs to be revised as in

(3):

Jadld oS oyl
(3) @ LS XP I kb2 Luw e M6 (S e ST a5l S fad) OY

(3)
XP = (SPEC) X’
(4)

X > X° (COMPL¥)
s Llosl) ey o B
XP
/ 0\
Specifier X'
/\
X°  Complement € T 5 axly e 0,5 S
Head

(5)
a. The librarian put [the book] [on the table]
b. * The librarian put on the table
c. * The librarian put the book
By rules (3 and 4, above), (5a) has the following structure:

: L}MKC“@ 5a Jul ¢l ol ke Q-i)ji‘u“ 4 43 J&\}EJ\ dc-‘j‘-:’

P___
/1 \
NP | VP
JeW) >The Librarian | |
V'
I \ \
V' NP PP

Jaill = Put thebook onthe table € <dasa

Some more examples of verb complements € Jadll cMasa  Jo ALY oy o
COMPLEMENT OPTION

Jasall £ 58 VERBS € i EXAMPLE <AL
(0] arrive, die The rabbit vanished € Jxall Jese 22 5y
NP cut, prove The professor proved the theorem
AP be, become The man became very angry
PP dash, talk John talked to his daughter
NP NP hand, give She handed the man a map———
NP PP hand, give She gave the map to the man

oil) oS

Jol oS

@BJAQ»




NP PP loc put, place He put the book on the table
PP to PP about talk, speak | talked to the doctor about Sue
NP PP for PP with open, fix He opened the door for Andy with a knife

2. Complements of other lexical categories
Complementation is not a property of verbs alone. Other lexical categories, namely
nouns, adjectives and prepositions, also subcategorize for specific complements.

Y Lozeal) Sliall LS

U A Gy cadally ¢ ol oo oY) Bl olidl) L b faill 2ol S3LSU
HEACH TS DU U CPORCH IO R PSP,

COMPLEMENT

OPTION NOUNS EXAMPLE

(0] , The is new

PP of , The of a friend

PP of PP to , The of a medal to the winner
PP with PP about , an with Stella about politics
COMPLEMENT OPTION ADJECTIVES EXAMPLE

(0] , , He is very

PP about , lam about China
PP to , Itis to the teacher
PP of , She is of chocolate
COMPLEMENT OPTION PREPOSITIONS EXAMPLE

(0] , He walked

NP ,on, the table

PP , up, into the cellar

Subcategorisation, also referred to as C (onstituent)-selection, ensures that only the
right complement type is entered into the tree structure. This information is stored
in the Lexicon.

Lot el JoSU 5y o Aol ¢ S LY L) ade gl LSl A Cnad)
e oo (3

3. Complement clauses

Clauses, which are larger units than phrases, can also function as complements:
(6) The psychic knows [that / whether / if the contestant will win]

The bracketed phrase in (6) is called a complement clause while the larger
constituent is called matrix clause.

that / whether / if are called complementisers (Cs). Their role is to introduce
(head) complement clauses, thus forming Complement Clauses which are
represented as Syntactic Complement Phrases (CPs).

. x@? .



A s NS

Dt DSl 055 01 S el e ST e Bl ¢ ale a2
(6) The psychic knows [that / whether / if the contestant will win]
Loy B ah e e S Ly oSSy e s 52 (6) UM (3 [] B e s

alodl as (6) JUW (3 ¢ JoSe 050G 2Tl 4k ey ) e 43 5a = Matrix clause
.The psychic knows s» )

LSS 3)Le Liows 351 ¢ oy Wi as eo £ Ala 4 oa = Complement clause
.that, if, whether, to

FIRCEIEN ads Gewd IS olles &= that , whether, if, to

A 5yl e ST ALS Al 48 G OF oS 4l Lk *

CP LSl 5lall 5 T o g akeSl) Aokt 4 head o) sebe) 5 B S oLl

(8) ... \4
/[ \
\/ Ccp
knows |
c IP
/ / \
/ NP P vp
C / \ I \
(that / whether / if) Det N | \"

the contestant will  win
Verbs taking CP complements
There are different types of verbs taking complement clauses. Some of these are
given below:

W add CYSs dsb Jladl

DA Azl 3 Y ods ae ¢l 4d oMK dxb JliY) e aalie C\jﬁ A

(9) a. They believe that Eric left. [v, CP]
b. They told Mary that Eric left [v, NP CP]
¢. They admitted to Mary that Eric left. [v, PP CP]

THERE IS NO LIMIT ON THE NUMBER OF EMBEDDED CLAUSES THAT CAN OCCUR IN
A SENTENCE, as exemplified in (10) below:

D (10) JUb & LS et (3 areadl Lo s sawd Gpee A dg Y




(10)
EXAMPLE: A man thought {that a woman said [that Sue reported (that Mary
believed ........ N}

At the level of competence, a sentence can be infinitely long. This is accounted for in
our grammar by the recursive nature of the X’ schema. This is made possible by the
fact that the same rule schema is used with the all the constituent types.

Al el a e sdelg 1SSy X bk denb o (Jolal) 25U Y 05T 01 Ko Ao

Other categories with CP complements
As the examples below show, a CP may serve as a complement fora N, A, or a P.

W il 4 st ‘_;;i d

A O A dially N ¥ Al 0555 01 S Al 4 W) aao¥) 3 e 58 Lo Jie

P
a. CP complement of N b. CP complement of A C. CP complement of P
NP AP PP
I I I
N' A" P__
l \ I\ o\
N° cp A° cp P° Ccp
Proof  that Eric left certain that Eric left (talk) about whether Eric left

It is easy to see, at least for nouns and adjectives, that the complement clause
attested with the verb form is also attested with the noun and adjective forms. We
thus have:

aLeSdl Ao o3 Ol cnouns and adjectives 2ially w1 (3 BY) o ¢ oS5 01 Jeudl e
AUUNTCURRE S T3 PR TE PSP I [e? Lasly ¢ Jadlly dage

Prove & = ascertain € J=é
\ that the theorem is false \ that the theorem is false
Proof |/ € au certain / € 4a



Lecture 9
TRANSFORMATIONS (1)

: Transformations &M g=l) 222 2 seie
e iked) 3 2T Bgn (U wBss o jzie B o O gl O ade il

The Inspector will come tomorrow
Will the Inspector come tomorrow?

Clor 93 g dres U Aled) o ¢ Aladl By U Lgmbsn oo LoV Al (3 will i,
N ol

1. Deep and Surface Structure
The grammar that we have developed so far consists of a LEXICON and a set of

Phrase Structure Rules (PSRs) constrained by the X’-schema . The combined work of
these two components generates simple structures, be they phrases or clauses of a
varying degree of complexity. The central element in a phrase is the HEAD, an X2,
while all its dependents (Complement, Modifier, or Specifier) are XPs.

(el Graall L)

ey ) s Bl Graall clidly o) sl pggde s
http://www.ckfu.org/vb/13200073-post9.html

Blall el (18 0 Ao gat g Beamas 5350 0 53S0 OV 3> e Ulae gl 25alll el
Lo ¢l 055 (Bleal) + Frameald 33,0) Lae S Vs e X Loz e 5551y (PSRs)
5 bl i) i) geall e 2di Sy U et olsly ollall O Lle calanll
XPs o &y (modifier*celsastl (oS I e sbazel JS L X I sf chead 1)1
W S Sl slosY Jl o die S femy Al a2 o 3)le of 2ulS” 58 = Modifier *

:modifiers |5 &S another s small @ Jle caled) aelgs Slwles) (5)9,0 1é 03929 .head

Lee caught a small mackerel.
Lee caught another one.

However, these components cannot account for variation in linguistic structure as
represented by the following examples in a straightforward way:



http://www.ckfu.org/vb/13200073-post9.html
http://www.ckfu.org/vb/13200073-post9.html

Yl 3 roge o LS cgalll 2l OBl o 0555 01 S Y ST oda ¢ IS mag

ela ﬁw Ju)

(1) a. The Inspector will come tomorrow. Declarative

b. Will the Inspector come tomorrow? Yes-No Interrogative
(2) a. John bought a car ) Declarative

b. WHAT did John buy ? €Y Lea i ab WH-Interrogative
(3) a. John ate an apple Active

b. An apple was eaten by John Passive

Native speakers of English ‘know’, tacitly of course, that these sentences are both
syntactically and semantically related, although they all express different modes of
communication. This relatedness cannot be accounted for if we rely on the Lexicon
and PSRs alone. At best, these two components will treat them as unrelated
structures and thus will fail to capture the fact that the sentences in (b) are DERIVED
from the sentences in (a).

Al i ) 08, Lgineg Lod alaplin o) odin O 2akudl 095 m a5l V1 a2l pabll)
3 iy Shlall dslg g damal) wloall Lo slasVL Sug o) (S Y Lyl s L aalkee
e Bl Co (PSRs llall delsy dameall s ikl e dezall) CSU s VUL Ll

A e Aitia b o) O ddds lebl (3 iy dadl Al b VS Lo oda

HYPOTHESIS: The sentences in (b) are derived from the ones in (a) by movement.
The (a) sentences are generated directly by the Lexicon and the PSRs. They represent
a level of linguistic representation called DEEP STUCTURE while the (b) sentences
represent a level of linguistic representation called SURFACE STRUCTURE. The two
levels of linguistic representation are mediated by a set of rules called
TRANSFORMATIONS. The work of the Transformational Component is at the centre
of the Computational System in the Grammar.

O3l e sl Laclad) £ (a) dhed] .l 2l (a) Aled) e diias (b) dhed) 1d2 4
(D) Loty csoonl sLill oy (S58) (St 15kt Lo PSRs lilall madh sl g dpaall
SNl o AelgS Laglan gy pgrandd WS, ool cld) oy (58] (S5me
Al aelg 3 Oldea)) plls v gy o>l O . Transformations

We will further assume that there are 2 types of movement:
Dbl e e 3y P RE o

= X2 movement (movement of a head) € (a2
* XP movement (movement of a phrase) € 5_tal) &y jas

Rz

IR

[0
o



2.1. Head movement: YES/NO Inversion or | -to- C
The sentences in (1) above, reproduced below in (4) instantiate the operation of
head or X2 movement. The structure of (4a) is given in (5a).

(YES/NO Inversion* or | -to- C) :head ol ! &y £

sihead ) el ahee 138 we (4) 3 Jaw Vb LalsSToslel e odlel JUL (1) aked

X2y jepbe

cdelud) Jadlly W) STl Se L s 350ally 2SI a5 inversion J) ¢ dla>Se®
s Jles ‘}}/meydjggd\}xd\bﬁwcfxd&ﬂbbwyw

a. Sam has read the paper.
b. Has Sam read the paper?

The structure of (4a) is given in (5a).

H(5a) & Lasly s £ (4a) & At

(4) a. The doctor will come tomorrow. Declarative
b. Will the doctor come tomorrow? Yes-No Interrogative
(5) a. IP__
/ \
NP r__ - D(eep) Structure
The doctor / \
12 VP
WILL come tomorrow

We apply the transformational rule - Yes/no Inversion

Yes/no Inversion _.Sall Jysdl 546 3ol L3 L

We derive the S(urface) Structure: € dlaall Akl Uyl gidi U

(5) b. P__
/ \
NP ’_ - S(urface) Structure
/\
e VP
WILL The docctor ----- come tomorrow - Y/N inversion
T /

By Yes/No Inversion we front the auxiliary WILL in | to a pre subject position.
o) L will aelld) Jadll Loy oSl plisezal,
The transformational analysis has two advantages :

= We do not have to say that there are two types of Aux in English, one that occurs
before the verb and one after it.




= Relatedness of the Declarative/Interrogative is also captured by the movement
analysis.

e A gl kol

odny 3Ty fadll 13 aslg daelld) JWoYl e cneg i) GL Jodi OF e Lld =

ROV R WER RN W s rwy\/Jp‘g\ o B —

One question remains, however: Where does the Aux element move?

Recall from the previous lecture that phrase structure rules are recursive in
nature. This means that it is possible to assume that every independent clause is
in fact the complement of a verb of SAYING/BELIEVING/THINKING, etc. Thus, we
will assume that sentence (4a) is complement to a silent verb such as in (6):

Caeld) Jodll elZ ol I ey Jlger o
b ek i S Sl sl el O e 2L 8ol (3 obds Tl e slazeYL
g IS L1 Sif s Jadl) oS p dlizes U 4 (S0 i85 OF ankl)
1(6) & LS culo fad) 1S o (da) et O) o

(6) a. 1 SAY: the doctor will come tomorrow

Syntactically, (6a) has the structure in (6b): €< 8 LS 17 dlieall iy a3y § ga
(6) b. Vv’

/ \
o cp
(SAY) / \
CI
/ \
/ P__
/ / \
/ NP r_
C / \
I VP
WILL The inspector come tomorrow
(N I

The relatedness of 6a and 6b is maintained through the fact that the movement of |

leaves behind a trace, thus forming a movement chain. Thus, | moves to C, ONLY
when the latter is empty.

& o) e Ja sy Inflection 1 sa9) | L2 O Gid> e dazens (6b) 3 (6a) L L))
L Lgadss OIS C ) s | G ¢ ks Sl 0580 1000y (bl I8 (ko)
Will o . gl jaaiad) Jag (sl inflection = |
.that, whether, if 1 Jzo .aSl alodl a2 Bl s3le 0555 Bl oS hile = C




A simple test for this analysis is provided by the contrast in (7):
D7) JWb 25 Jol=dl b oo jLas|

(7) a. | wonder IF/WHETHER [ the Inspector will come tomorrow ]
IP
b.* lIwonder IF/WHETHER WILL [ the Inspector come tomorrow ]
(N X I

| -to-C is blocked

The verb WONDER subcategorises for a CP complement. Thus, the C position is filled
by either IF or WHETHER. When | to C applies, the Aux WILL moves to the position
that is already filled by IF or WHETHER. A Complementiser and an Aux cannot occupy
the same position. This explains the ungrammaticality of (7b).

e i) s € ) i O S Y will asld) Jodll OB cwhether o if + Hsia € OF L
s aledl Cownsl (7b) JW 3 LS C U Jle)
Conversely, if the Comp position is empty, | -to — C movement is possible as shown
in (8):
(8) JUl (3 LeSadl o 0f S 1 0l 1 € 3l 3lall azge 0TI ¢Sl Sl

(8) 1 wonder: will the Inspector come tomorrow?

EXERCISES: How does YES/NO inversion account for: € (mal
* played the boys football yesterday?
Did the boys play football yesterday?

2.2. XP movement: Move WH to SPEC CP
Another instance of a movement rule is provided by so-called Wh-movement. This
illustrated by example (2) above reproduced by below in (9):

SPEC CP 4l WH &l 2 : (XP) 8ylall &y 2

Sy coMel (2) JE (3 54mslly WH-movement _owd Gyl sasls Lo 5T Jlis
: L}L:J\ (9) JEb a=s s
(9) a. John bought a car Declarative
b. WHAT did John buy ? WH-Interrogative
tib>
JWH 2 fag 65\3 c%\ ... what, why, who Jxs (L@Jzz,u'ﬁ\ el * = WH
X lalosig AleS alod) 4 (3 wlsadl g8 = SPEC CP

L

[+

P

oA



The Wh word in (9b) substitutes for the complement of the verb BUY in (9a). The
Deep structure for (9b) should be as in (10):

[(92) aled! (3 buy Jadld foSUI plis psi (what & &lg) (9b) Aled 3 WH JIgd) Gresr

1 (10) & m2sr 38 LSO (9b)  Grasd) <)

(10) John did buy WHAT?
To derive the S-tructure (9b), we need to apply two transformations, namely:

TRANS 1: Subject Aux Inversion =========9 did John buy WHAT?
TRANS 2: WH-movement =============%  WHAT did John ----- buy ----- ?
™~ 1 I |

| |
: bsZ ke L ¢ John did buy WHAT? © JUbl 1ds 3

Dl oy did Al Jodll aeJohn el aise LeSe d53)

.did John buy what?

Jlaled) fad caledt 2l U buy Jedll LSz gy what aalizaY) vl US> 450
.what did John buy? : aledl Lgeas

We know from the previous subsection that the Aux element moves to C. We also
saw that it was an instance of X2 movement. How about the Wh-word? Where does
it move?

Let us assume that the Wh word moves to [SPEC, CP]. We thus have the following
tree structure for (9b):

D (11) @ LS (9b) Jub Ul gmdl L)

(11) S
/ \
o cP___
(SAY) / \
/ (o4
/ / \
/ / P____
/ / / \
/ / NP r_
/ / / \
/ C / VP
/ 2
WHAT did John t buy t
T N | |

In this lecture, we have introduced and illustrated the working of the
Transformational component of the Grammar.
= Transformations are needed to account for structures that involve the
displacement/movement of some constituent




» Two types of transformations have been illustrated: X2 movement in the case
of Yes/No questions and XP movement in the case of WH-movement.




Lecture 10

gl e oSS g X Lbz (3 W) jee ) gar 3l s 2 0STE T OF L
.say gwork : Ji J=dlVerb =V
will, always, o JUH o) deldl ledlly dled) 3 sol paiall J2g s lly Inflection = |

have
«that, whether Jzs aloSL) Al acs &y e Jw i«lfga 9 Complementizer = C

O3 &Y L 2T aie o Jamy gz 180 065 OF Y lualtel (3 .3ked) 4 Bl o,
.JA&L;TL@:J\JE;;&O\Og.QY uﬂbj\thateiﬁjﬁ»
V-movement to |

Consider the following contrasts. Can they be explained in terms of the availability of
V-to-l in French in general and only exceptionally in English:

o RIRVA VI WOV
EPNENEEURNY B S WO TN PR TR (Vi W[ S g P OV PN

(1) a. Paul travaille toujours.
b. *Paul works always

(2) a. *Paul toujours travaille
b. Paul always works

Observations: English and French contrast significantly with respect to the relative
word order of V and Adv in a simple sentence.
In English the Adv MUST precede the verb, while in French it MUST follow it.

o) dadt 3 JU 5 el G glan L Ll il ded )y dpld V) aall) 1 da>Shs

el a0 G JU 2 dllg ¢ Jedl) G O G U 24N AL G

Hypothesis: V-to-l applies in French, but not in English. The existence of such a head
movement transformation explains the contrasts (1 & 2)

V) L agdVl 3 ug ¥ S i dll 3 Sas Vito | ol JUH 0G edll 5 ;G
Yl s g5 (182)
Evidence:

Arg 1. Both English and French have I-to-C in Yes/No questions, but only French
has V-to-I followed by V+I-to-C. Consider the following:

<v®1’;

"ﬁ S



VRN
Lods i 4l UQ cyes/no dswl 3 1to C & [UERU- W] 454 o Jf:dj’g\ OL&;}J\

kb esVL W VT to C E ey Vo | 5 e

(3) a. As [tu essaye] ? I-to-C F &g il
b. have [you tried] ? I-to-C E € 4l
(4) a. Vois [-tu [ lelivre]]? V-to—-l—-to—C F & i)
IP VP
b. *See [-you [ the book]]?* V- to—l—-to—C E <ajhm

In (3) Infl has moved to C in both languages giving rise to well-formed Yes/No
guestions. In (4a) the verb in V seems to have moved to | then to Cin French, while
in English it cannot do so. This confirms the hypothesis above.

JisT (L anf) paiall I piug chave dhedl (3 aeloll fedll i (sdUls) inflection J1 (3) 3
¢ oms LAV Jed Jast (4a) 35 Vo ] 53 Jlger (8085 Jo) e ol S5 C )
el sl oy g LY 3 U5 Jes Se Y Lty s ) 3 C ) i)

Arg 2. English has exceptional V-to-1 with BE used as main verb in ex. Such as:
LaS” ooy J2iS have sl BE plsezwl mo | LV Jadll 55 (3 clical s B2 ) gl Olap)
W Ju

(5) a. Jonathan is always on time c. Jonathan is [always e ontime]
b. * Jonathan always is ontime VP

V-to-1 has applied in (5a) but not in (5b). BE in this example has a dual status: it is a
main verb but at the same time it has the morphological properties of an AUX, ie an
I. It is syntactically visible only when it surfaces in I; and not under V if it does not
move as in (5b).

aall 3 a2l Gag LS (5a) JW @ (always JUH) 1O (s edll) v I W L

Jedll s (BE 1) 1S 01 o slitzal s oS i 1 (3 Joedll g 3l JUH 30 2 3

AU AL e ¢ ) frdll s OS5 have e dheadl b ibany lia d))
Jonathan has alot of money

teS) b (3 ol e (BE f)is I (5a) ¢ o) Lde

VS ) ol plin g5 -

1S delld) Jaal) gl aslad) W —Y




plis a5 Lodis s . (Sb) JUN (3 LSTI Il OKs il Lais as gl guaSlas glis

.(5a) & LSV L;M;,S\ Jad
Arg 3. If our analysis of (5) is correct, we predict the grammaticality of (6).
1(6) Jol) Zgalll aelydll L OV LSk o (5) Jekd OLST131 1IN Ol

(6) Is [Jonathan e [always e ontime]]
7 [_vp I

The grammaticality of (6) cannot be explained unless we assume that BE has moved
exactly like lexical verbs do in French; i.e. over the adverb in [Spec,VP]. (See 1&2
above)

(1&2) ) as,dl) 3 Sl dkae Lags 130 Y] (6) JWI s S0 Y

Structural ambiguity € S35 sl 8 QI8 dami s jualaall 8 40 5all sda Jalad il o) Lale
Some sentences are structurally ambiguous in that the meanings of their
component words can be combined in more than one way. For ex:

iled) sly 3 sV
tak Lne Jawy Lo 2l Gl a8 BLUSTO) gag ¢ aald cly 013 055 Lokl o

Wealthy men and women
The phrase in (2) can be interpreted in 2 ways:

Doy g oS8 8yLal) oda
a) wealthy (men & women) or b) (wealthy men) and women
These two readings are matched by 2 different syntactic structures:

Dol iyl Lt el S el 3 ol

a) NP b) NP _
| / \ \
N' NP  Conj NP
/ \ / \ | |
AP N' AP N' and N
| | wealthy | women
A N N
wealthy / |\ men

men & Women
(a) refers to all wealthy men and wealthy women while (b) refers to wealthy men
and women in general. The latter are not wealthy.

o) slds sV L S a5 (b) e s3I sladlly Y1 sl IS 1 s (a) I
(sl 3yl

{,f@:;;.

"ﬁ 1y



Conclusion In this lecture we have:
= |-to-C exists in both French and English.
= V-movement to | exists in French, which fact explains the existence of V-to-
I-to-C in this language.
= V-movement to | does not exist in English, which fact explains why English
does not have V-to-I-to-C.

¢



Lecture 11

Thematic Roles
Another aspect of semantic interpretation at sentence level involves the roles NPs
play in the situations that they describe. Consider:

B sk )193Y1 allas
Pl aked) (3 ae) 3yle ISTaltd ) el e dexes izl (prall il e 5] A5

(1) The company sent the salmon from Dammam to Riyadh

il (e 3 Cali Ble S Ak 3 2e N SULNINP s JU 3 35N 0l

¢ ot sud aladl, s dob ¢ (1) Julb ity ol Jad) e G 892 Al ISy ik
D edl s e Ly NP sVl jes db OV (Juyl) sSENTE 529

.l 9y p9d5 = The company

b)) @ o yes ook (Ogabd) Sle® zai5) = The salmon

Ll 06K ad) o @0 Budl SV jae ) 2l JlayI b OF g
ol jdzs jody 258 = Dammam

el adl Coady gl Gudl e 585 = Riyadh

It would be impossible to understand this sentence if we could not identify the
company as the sender, salmon as the sendee, etc. The term thematic role (theta
role, B-role) is used to describe the part played by a particular element in an event.
Some of the most used thematic roles are given in (6) below:

M en sl sler Oly ¢ Jul )l o8 35801 01 sud O e 1131 (1) dhed) b Cnezy
& WU las) ¢ b Sy Sudl 3 e Sk gl sl sas aakall lasY) alss
telladl s (3 Llasaal Y

Thematic roles:

AGENT: The entity that performs an action.

THEME: The entity undergoing an action or a movement.
SOURCE: The starting point for a movement.

GOAL: The end point of an action or a movement
LOCATION: The place where an action occurs.

i dilal) l9aY)
e blay ab ol OLSY) 52 = AGENT

(o) we IS A OLSY) i o Lo blewy b gl L) 58 = THEME




LoaSd ol b blad 4l e sa = SOURCE
L iS> o) Lo blad algdl dbs = GOAL

L blis ap wug ) 0L ga = LOCATION

In sentence (1) above the following thematic assigned:
(1) The company sent the salmon from Dammam to Riyadh.
AGENT THEME SOURCE GOAL

(2) Terry gave the keys to Mary.
AGENT THEME GOAL

(3) The magician changed the ball into a rabbit.
AGENT THEME GOAL

Thematic Role Assignment
=  Where do thematic roles come from?
= How does the grammar ensure that the appropriate thematic role is
associated with each NP in a sentence?

Aol ylgs¥yl wud

Saabaill Jlos¥loda 3B ) o —

Cakod! (3 NP Zime ) 3)le by Cpne y93 O) o WS 2 (ST —

D Ol O Wb aglaid) J‘J"Y\ s abs>Y

(Thematic role), (Theta role) , (6-role)

Thematic roles originate in word meaning.

The meaning of the verb/predicate is central in determining the particular 6-roles
that must be assigned in a sentence. For instance, the meaning of HIT calls for the 6-
roles AGENT (doer) and the THEME (doee). However, the other categories can also
determine other roles that are assigned in a sentence. In (3) above, the prepositions
FROM and TO are respectively responsible for the SOURCE and GOAL role assigned
to Dammam and Riyadh.

et G Ol glae e Ldladt 19591 Las

hit Skt Aed) 3 sl 595 302 (U el )l 521 58 Lagilang 2daill 3Ll ) L)
ooy ol s 3B il theme 3 ©rall poi Ul agent AU adkll JlgsY1 ez
0L ¢ oMl (1) JW 3 co5T aalans ol lodst O S (ot 18) 5,57 ol OB (U

: goal s source Jl adbdl )oYl Liad e st 155 To 9 From




.from Dammam to Riyadh

Generally, 0-roles originate in the Lexicon as part of the semantic information
associated with particular heads. Here are some examples:
s s head 5 deg Gl JrEEWEPIRCH I PRENEAE WP )\jf}ﬂ oL ¢ ale Ji&)
(4) The thematic roles of some words are suggested by their meanings.
oldS aa gas das e dabd) V) 2
HIT <AGENT, THEME> TO <GOAL> NEAR <LOCATION>

WALK <AGENT > FROM <SOURCE>
0-roles are assigned to NPs based on their syntactic structure, with each NP
receiving ONE and ONLY ONE 0-roles.

193 358 NP 201 5le S G cqsomdl bl 3 NP eV llalls Ledayy oz 2iabaill lgsY)

The verb assigns two 0-roles, one directly to the complement and one indirectly via
the VP to its subject because the verb is not syntactically a sister of the NP subject.

Bl asad sl e gy ¢ oSl 302 5le oad) ¢ bl J1esY1 e O sak fad)
(5) Terry gave thekeys to Mary.

<AG,TH> <GOAL>
) /\ 1 \ )

Deep Structure and Thematic Roles
Does an NP receive its 0-role in its D-Structure position or in its S-Structure
position?

Consider the following example in which wh-movement has applied:

Akl §195Y) 5 Gaesd) sL)

¢s-Structure J\ sl o D-Structure JI sU) alall Lajlgsl e eVl 5)Lall Lad o
4 WH I & deis & g ddly JUi Jud) LY
(6) What should the man bring e?

The Theme role is clearly assigned to the position occupied by the trace of the wh-
word. The D-Structure position is the one subcategorized for by the verb and is
therefore the one that receives the relevant 0-role. Also, the D-Structure position
determines the nature of the 0-role. We can thus state the following:

<‘§Qz{;‘-

F+ N



g2se O WH I 2S5 Jgatie mose dl theme (bladb ) 53 i & 01 molll
ol il IS L aill s ey ) pay ndll 15 0 it 1 g3 ol )
Pk WSl oy Sa L bl e dad sak
An NP’s D-Structure position determines its 0-role.
This statement lends further support to the fact that there are two types of roles

PSRs to generate deep structures and TRs which convert them into surface
structures.

.‘55.19.:3.\ 0195 34 Gron! sl é M'ﬂ\ &P
£ iges sl da clasY Ohlall sy ael (aelsdll o (e drg 4 Aid> Y 8Ll o

@&M by I Ly gmed Mgl Uelgs aldsei)




Lecture 12
More XP Movement Transformations

gl o e

Case in syntax
Case is a noun inflection by means of which grammatical relations such as SUBJECT,

OBIJECT, Prepositional OBLIQUE, DATIVE etc. are signaled. English does not mark
Case overtly. However, Standard Arabic is interesting in this respect because it has
OVERT Case, marked at the end of a noun as shown in the following example:

Fepe il CJKJJ-\

Qe Y g2 damie ¢ Job ST el Bkl a0 V) e wlla] s gl IS
SIS (gda pliseal (3 plaxadl 8yte dgpal) aall) ST e sl L s e 350450

: QL:S\ Julh & ros 3 LSc(..wY\ VI IS gé“ﬁ

(1) Akala 9omar-u t-tuffaahat-a  fi I-maktab- i

Ate  Omar-nom apple-acc in the-office-gen

'Omar ate the apple in the office. *
SUBIJECT Case is Nominative, OBJECT Case is Accusative, and Prep Object Case is
Genitive (in Arabic).

BJMQ\ = Genitive ¢« il = Accusative ¢ 4.2/l = Nominative

Assume the following Case relation:
NOM is assigned by + TENSE
ACCU is assigned by V
OBL is assigned by P (in Arabic, P assigns GEN)

Case Filter: All NPs must have Case

sl 883 e sl ¢ b B 5 oleal] matiy gl (Jls g eSUl el
Vo 1S g S

AUl ) LSad) BN o i

led 3 aall il L3 e el e ol R0l

(esare 055 (4 dymdl) 5T) ol sy ) odl) ol 8 0 0pad o 1 ol
A3 O sy 0 bdd 1yl Y]

gt Sl ol WS e Lad OF Y aled 3 sl S | Sed bos




NP movement (1): Passive
Consider the following two examples:

Jsgeall st o(1) L) Byl 2y 2

s alze) sy
(2) The police arrested the thief
AGENT THEME
(3) The thief was arrested [e] (by the police)
THEME AGENT
D-structure: (4) was arrested the thief (by the police)

S5 ) 9 AGENT (Jndlls o3 (sll) 1ol o cndt Jlasl 544 arrested Jodl) (2) JW) 3
cigaladl) )93 e ol sug W o Liagly ¢ Jadl i (4) JUWN (39 L THEME (=il
MY\ SJ\.?&S\ @ﬁ r}fv La ¢ empty 4.3&»3 cdj,gs L”gT J‘,ﬂ j’.‘.-c (J.\u:.sb (\5 QQ.JJ‘) O—Qﬁ
JUL (3 LS sy cagent kel (3 Jadll o6 0 OIS Joud (theme 3 &) Joile STLI NP
&= <by the police Lol ket odn Jro (3 prond 3pdfY) O 08y (Jsgrmell 5o Al (3)
gl W Se
How come that the Agent role of (2) is not assigned by the verb in (4)?
= Assume that the passive morphology ‘weakens’ the verb by making it incapable
of assigning accusative Case to its object, hence the need for it to receive Case in
the vacant subject position from I.
= Assume that the passive verb also loses its capacity to assign the subject 8-role.
The subject position is therefore non-thematic in (4). Interestingly, NP movement
is a transformation which creates a CHAIN, whose head is a Case position and a

non-thematic one and its TAIL/Root position is a non-Case position but a
thematic one.

9(3) okl & Jadl J pr oad o f(2) e 3 Agent Jold) 0 O) CaS”

oSN e Jendll oz Jo 3B pd alagy fadl) "Gl Jogmdd) Bl A O pidd @
A Jodl wzge U1 iz b o) 1S5 a5 il Jpndl) 1B T

mq;,UM'J\MgswsJE>Y\>wwﬁdﬂM@\on&yj °
A2 ke o3 d) e (4) Aot (3 Jeldl aoge OF Eokt (Agent) el 55 (anY
Lol 2ok s gty Bl o g5 50 2N BLA 5 0B ¢ plonadl] e IS0

TLalare Layes sa2g Lolel (i b (k) Lenléy Lalats oj9s 302 peg Lilel [SCi

N d
.e-’_\)@gx{;,

Yo



An NP Chain: (NP, e)
[+ Case,-0] [-Case,+0]

r»Mr» M A
BSE om0k o e
et > Joii Sl

rpold) o gb e Raising U Loy Caypnd 1A of A
ad ) Al 4l e w5 gy 2SI el 4 s oWl L& 5» Raising J)
B LTI W I VP

It seems that Sue_is tired : Raising J) s4s5 42 ks |3 alod

Sue seems to be tired : Raising J s4s0 guloi Ay dlad]
Ogll 3 ds W et 1) Jold)) s ¢ alaSs a4 o oY) aled) (3 bos wdls
b aisle ag LoV e dizae W) AW Al e &y L 38)5Y)
NP movement (ll): Raising
Similarly, RAISING Predicates are sanctioned by the same Chain conditions given

above for the Passive. Raising Predicates are predicates such as: SEEM, APPEAR, BE
LIKELY, BE CERTAIN, etc. Consider the following:

&M (1) LY Bl Sy £

Jlily ¢ypemall sl 3 ST ALl i Lle o b)) 306 OB psgmall b Lo
SEEM, APPEAR, BE LIKELY, BE CERTAIN : Jto o3}

;LW JE LY

(5) a. Itseems [John is happy today ]
b. John seems]| ..... to be happy ]

(5 aandb) are synonymous, but they differ syntactically in that the first one has a
finite, [+ Tense] complement clause whereas the second one has a non-finite, a [-
Tense] complement clause. Thematically, the verb SEEM s-selects a THEME
complement clause and a non-thematic subject.

AoVl 3 aled) as o (692 Vsl gy S (and Sbsls (5b) 2hed) 4 (5a) Aedd O
I ye3 s SEEM Jadll ¢ (Lsime o) Lilareg 302 6 ool 25W) Ly ¢ 50) Ldd L8 Aoy

el jes sag ¥ as Al aled as 3 THEME




The derivation of (5b) is as follows: & JuW 0sSG apll akad) Blazsl
(6) John seems to be happy

DS: ------ +T seems [ John -T to be happy 1]
[ + Case, -0 ] [ - Case, +6 ]
Move NP =» S-S: Johnx +Tseems [ ex to be happy ]
T I

CONCLUSION
In this lecture, we have seen that :
= The thematic status of a syntactic position interacts in a significant way with
syntactic processes such as Passive and Raising.
= NP movement is obligatory for Case reasons (Case Filter). It moves an NP from a
thematic and Caseless position to a non-thematic and Case marked position (NP
Chain).
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Lecture 13
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MORPHOLOGY EXERCISES

: Sl
aline o pin Vg ¢ (F).0 Bho ¢ gl ¢ i) LadSUl dga o pa Yt Inflection

aliase BB ji ¢ (t‘ e ¢ VM‘ ¢ Jx.e) LIS & 0 pxy 1 Derivation

EXERCISE 1: Say whether the following words are related by inflection (1) or
Derivation (D)

Q

:Derivation (D) s Inflection (1) J! s b AU LU oy S :sz?\ & ol

g0, goes going, gone. I - D

.|nf|eCti0ng@-§‘OJAJ§L}JJE$¢~PWJ\ uwméﬁw)\;@”\»go

Lovely, lovelier, loveliest I - D
Discover, discovery, discoverer, discoverable, discoverability | - D
Inventor, inventor's, inventors, inventors' I - D

EXERCISE 2: For each word below, indicate whether the word is morphologically
simple (S) or Complex (C), includes an inflectional affix (1A), or includes a
derivational affix (DA).

Lot limlll #5013 Ly ¢ (S0 ¢ oy gl O 130 s 2dS7 JSU 1 ¥

.Derivational ;T Inflection
LS s o5 wlo) (o o S oy 065 @blo) (51 09y ks Jawl 2alST)

41319 DA enal Lzton ol Lalins ki 4570 omnal 136 ¢ C 250 el okl s o) 5

o 0o oTow

A [l Pl
Reader S C 1A DA
Redder S C 1A DA
lavish S C 1A DA
Readiness S C 1A DA




e. Aviation

1A DA

EXERCISE 3: Isolate the root and the affixes in the following words.
For example: unpredictable : un+predict+able.

independently
recoverability
embellishment
unsustainability
implementability

®oo0 oW

g abg M g e A Ladl n W o E
unpredictable : un+predict+able. : J\s

in-depend-ent-ly

recover-able-ity € 4uhad 2y Gl y Al Jear 865 )
embellish-ment

un-sustain-able-ity

implement-able-ity

EXECISE 4: Some words in (4) contain prefixes. Identify the prefixes by circling

them.

a. unable un
b. discourage dis
c. establish -
d. receive -
e. strawberry -

Pk RS IS anl sas g 8

EXERCISE 5: Circle the correct answer in the following multiple choice questions:

el BY) sl e ugy,f

(1) The study of word structure is done in

a. Phonology
b. Syntax

c. Phonetics
d. Morphology

(2) The association between the sound of a word and its meanings is purely

a. Controversial
b. Conditional
c. Central

d. Conventional

(3) Suppletion occurs when a lexeme is represented by two or more

roots.
a. Different
b. Similar
c. Bothaandb
d. None of the above

v



(4) When we derive one word from another, we .........c.......
a. Change its class, for example, from being a Verb into a Noun
b. Change its tense, for example, from being Past into Present
c. Both of the above
d. None of the above

LBlas) e bl ol SUS derivation (a8 ey (Blixs) gxs (€) JIs (3 Derive
Slasyl e g5 s s¢b inflection o derivation O Jlgw L“sf o) o) axall pa cled

.Both of the above o» 4,1=YU .derive

(5) Roots are ..............
a. NOT always free
b. Always free
c. Both of the above
d. None of the above

(6) ceeeneene is a morpheme that makes the most significant contribution to a word's
meaning.

a. The phoneme

b. The derivational morpheme

c. The inflectional morpheme

d. Theroot




Lecture 14
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SYNTAX EXERCISES
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EXERCISE : Choose the correct answer.

1.

................. Tries to explain the unconscious knowledge that native speakers

have of their own language.

o 6 T 9

o 0 T 9N

o) (3 ooV elSaal) gaall Al ek Jols L -

. Generative grammar €dsia J) ¢ g2l ol 4y dsdld 3 palsall 4
. Traditional grammar

. Functional grammar

. Systemic grammar

. The sentences 'Smith ate a sandwich' and 'a sandwich was eaten by Smith' are
. Identical in the deep structure

. Different in the deep structure

. Identical in the surface structure

. Identical in deep and surface structure

Lo dig b i Laga Alamll (siall sl ki Josd aladl O) o dainy Gpodl) 1))
Y il O bwys Jggomall abt 3 oS0 0@ 00K mal) Ol Of Ay aadl 2 s
oS o pais A8 (ST g p8 05 (S T Jolill (i o)) e g3 2%
b 2 BYU Geadd) S o) el @ il 0SS L (geanl S

Q 0 T 0 W

. The sentence 'she drank the juice in the kitchen' has
. Two distinct deep structures

. Two identical deep structures

. Two surface structures

. One deep and one surface structure

ol das sy Jad dled) T3] Gkl 3 Cupd B anh ol el Copd
.a).hg,)\)é-Lé




4. Arabic is an example of ........ languages.
a. Vso
b. SVO
c. SOV
d. OVS

b4 dedl =0 ¢ Jeld =S¢ Jaih =V

Joo car Jondas Jsboy b 5S4 83le o) ¢ gl 3 o) Aad) i o Ls Jlgd)
4 Jynie g Jab g Jobb ¢ dard) Akl (5 2l#Y W VSO gb cilid] o [T
a2 wlsdli SVO f

5. The syntactic head of a clause (IP) is :
a.Vv

b. |

c. V+l

d. C+l

O9s Aot 0655 01 a5 Y Ls2 0¥y (IP alemll syntactic gsdl L)1 e Jised!
9 SEMANTIC dlexld soiall W) oo Jlgdl o (ST ¢ = 05 (o) el
b sa Sl 131 Jadll Oy sl LG Y OV V2 Y1 065 Oogr (552 )

6. ceeerneecneens refers to the speakers' actual use of language in concrete situations
a. Performance

b. Competence

¢. Linguistics

d. Syntax

vy
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4- The mental dictionary that language users must equipped with in addition to the
grammatical rules of their language is called :

a. Lexeme

b. Diction

c. Lexicon

d. Word list

5- Function words include :

a. Pronouns only

b. Determiners only

c. Conjunctions only

d. Pronouns, determiners , conjunctions

(st IS AL S G function words b sl Gy o L sSW)
s Sleghes [ ) 2L o) ool

6- The inflection process turning "go" into "went" is called:
a. Umlaut

b. Ablaut

c.Suppletion

d. Conversion

7- The Syntactic head of a clause IP is :
a. Vv
b. |
c. V+l
d. C+l
iz 055 Jigudl e ¢ V.05 semantic gyl head ) bl J ST ¢ 10105 P 5L o=l head J1 e

Bppl B it 3 S V) £k 1 8 3ol 3 LA

3- NON-FINITE verb in the sentence ' | remember telling him not to go ":

a. Remember

b. go

c. remember telling

d. Not to go

e s JIgdl bl malie e andl O 2ja (SIcnon-finite ) sfinite 3 Jwl ol - § el L Lo
b YW asTh a1 c100% ) e ATl g0 B e BplE N1 A1 delsill s e
:SJJ.:LA )):f.ﬂ\ RS ng-‘ﬁ\ u g:,uL:- bl

http://www.ckfu.org/vb/13292795-post66.html
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8- In what way are SOV languages different from SVO languages ?
a.in SOV languages, complements precede their heads

b. in SOV languages, complements follow their heads

c. in SVO languages, complements precede their heads

d. in SVO languages, complements are optional

9-The study of the internal structure of words is called :
a.Phonology

b.Morphology

c.Etymology

d.Philology

12-The suffix in the word "unfaithfulness" is :
a.-ful

b.-fulness

c.-faithful

d.-ness

. @ésfﬂm szfud\ o dablall 434,.{4:—\ %"}A.“

13- Generative grammar claims That a child is born with an innate predisposition to
acquire any language on the basis of a set of universal principles called :
a.Universal Grammar

b.Minimalist Grammar

c.Structural Grammar

d.Word Grammar

14-The smallest linguistic element capable of having meaning or a grammatical
function is referred to as :

a.A word

b.A phoneme

¢.A morpheme

d.A phrase

15-....... Aims to account for the implicit or unconscious knowledge that native
speakers have of their own language:

a.Generative grammar

b.Traditional grammar

c.Functional grammar

d.Stratificational grammar




11-e-mailer is an example of :
a.Backformation

b.prefixing

c.clipping

d.Neologism

tble S e a Lg ¢ JUI i e Ity bl el 3 SO0l gt ¢ NEOlOgISM A1 it

Neologism : as dladl
- When a word that does not exist in the lexicon is created through a morphological rule, we call it:
neologism.

Suaa 4Bl neologism lede (3l ¢ o yall 320l NS o s 38l 3 Led a5 Y AS oL o Laxic
Example:  e-mailer
- If this neologism is used once and never again, we call it: occasionalism.

occasionalism. dua e Lo 3l a3 ,A05 A al g 52l 53 pe 2paal) Jadll) 12 aladiind &3 13)

17-The sentences 'Smith ate a sandwich' and 'a sandwich was eaten by Smith' are :
a.ldentical in the deep structure

b.Different in the deep structure

c.Identical in the surface structure

d.ldentical in deep and surface structure

el & sl o e

21-root morpheme in the word 'independent' is :
a.Independ

b.Dependent

c.Depend

d.Indep

in + dependent ;s independent |o! Lb 4 l4V) aalll alsa) s54alls
depend+enteas . ip Jol » Al ix 25 dependent

NEPP

22-Which of the following is illustrated by the word 'brunch':
a.Blocking

b.Blend

c.Clipping

d.backformation

23-Arabicis a ........ language .
a.VSoO
b.SVO
c.SoV
d.ovs




24-Verb inflection in English is generally :
a.A prefixing process

b.A suffixing process

c.An infixing process

d.An infixing and a prefixing process

26-Affixes are :
a.Free morphemes
b.Independent words
c.Bound morphemes
d.Base forms

27-....... Is a morpheme that makes the most significant contribution to a word's
meaning.

a.The phoneme

b.The derivational morpheme

c.The inflectional morpheme

d.The root

28-Choose the group of words that results from derivation :
a.Cry, cries, cried, crying

b.Kind, unkind, kindness, kindly

c.Tooth, teeth

d.King, kingdom, kingdoms

29-The FINITE verb in the sentence 'he enjoys reading at night to lull him to sleep'is :
a.Lull
b.Reading
c.enjoys
d.to sleep

30-What determines the grammatical category of a compound is :
a.The rightmost word

b.The leftmost word

c.The rightmost and the leftmost words together

d.Neither the rightmost nor the leftmost word

31-In English, inflection is :
a.More productive than derivation
b.Less productive than derivation
c.AS productive as derivation
d.Noun-based only




32-Yes/No Questions in English are derived by means of :
a.l-to-C

b.V-to-I-to-C

c.Neither

d.l - to - spec of CP

33-' Arecent history book about Morocco' is :
a.AP
b.VP
c.NP
d.PP

34-....... Do not change the syntactic category of a word :
a.Derivational morphemes

b.Inflectional morphemes

c.Phonemes

d.Allomorphs

35, e refers to the speakers' actual use of language in concrete situations
a. Performance

b. Competence

c. Linguistics

d. Syntax

36-..... is an affix that is attached before the root .
a.A suffix

b.A prefix

c.Aroot

d.A stem

37-Which of the following statements is correct :

a.A derivational affix attaches to a base before an inflectional

b.A derivational affix attaches after an inflectional one

c.A derivational affix attaches before and after an inflectional one
d.A derivational never occurs with an inflectional one

38-The word ' buildings' can be morphologically analyzed into which of the following

a.Build- ings
b.Building- s
c.Build-ing-s
d.Buildings




39-..... occurs when a given utterance can receive more than one interpretation :
a.Surface meaning

b.Deep meaning

c.Structural ambiguity

d.External meaning

40-..... is (not) an example of backformation :
a.Edit

b.Televise

c.Donate

d.Brunch

Jednot ads" il

backformation! le dul LIS a,b,c 0¥ (Jisdl los 4wzl oY
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not an example of backformation

41-in French, yes/no questions are derived by the application of :
aV-to-Il-to-C

b.V-to-C

cl-to-V-to-C

d.V to Spec CP

42- UNICEF illustrates

a.An acronym

b.A blend

c.An example of clipping

d.An example of backformation

43- When a root is combined with an affix , it forms
a.An expanded root

b.A complex word

c.An expanded base

d.A simple word

44- The inflectional morpheme in 'teachers' is
-a.teach

b.-er

c.-ers

d.-s

A¢



45- The lexicon lists

a.Simple word

b.Complex word

c.Complex constituents

d.words , affixes and constituents

46- The sentence 'she drank the juice in the kitchen' has
a.Two distinct deep structures

b.Two identical deep structures

c.Two surface structures

d.one deep and one surface structure

D alex 08 58L0 5ol (3 STA L Jigedi s Je Ol STl Y € 5008 3

47- The word ' Assembly ' has
a.0ne morpheme

b.Two morphemes

c.Three morphemes

d.Four morphemes

48- Which of the following is an allomorph of the English plural morpheme (S)
'a.[s] after [t],[k],[p] as in 'oits, tips, taks

'b.[iz] after sounds like [s], [z] as in 'sheezes, bosses

'c.[z] after [d], [g], [n] as in 'dogs ,pads, hens

d.[s], [z], and [iz]

49- ......... Is the speaker's implicit knowledge of the rules of his language : i.e
speakers' mental grammar.

a.Performance

b.Competence

c.Syntax

d.Linguistics

50- In the phrase ' the very beautiful white house' the Spec is:
a.The

b.The very

c.The very beautiful

d.The very beautiful white
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In generative grammar, the native spearkers' knowledge of their own
language is said to be:

a- Explicit
b- Implicit
c- Inherent
d- Exquisite

The lexicon lists:

a- Simple words

b- Complex words

c- Complex constituents

d- Words, affixes and constituents
The PP "in the kitchen" in the sentence "in the kitchen, she drank her coffee"
is:

a- Modifier

b- Adverbial

c- Ambiguous

d- Prepositional

The word "Constitution" has :
a- One morpheme

b- Two morphemes

c- Three morphemes

d- Four morphemes

One of the following is NOT an allomorph of the plural morpheme {s} in
English:

a- [S] after [t].[k], [p] as in 'bits, tips,tacks’

b- [iZ] after sounds like [S], [Z] as in 'sneezes, bosses'

c- [Z] after [d], [g], [n] as in 'dogs, pads, hens'

d- [en] asin 'oxen' and 'children'

In a tree diagram, the constituents of a sentence or phrase are represented:
a- Linearly

b- Hierarchically

c- Randomly

d- Unsystematically

AT



7- AIDS is an example of :
a- Backformation
b- Acronym
c- Clipping
d- Neologism

8- An allomorph is one of the possible realizations of a :
a- Morpheme
b- Phoneme
c- Lexeme
d- Sytagmeme

9- A VSO language is a language such a :

a- English
b- French
c- Arabic
d- Chinese

10- Category changing morphemes are said to be:
a- Derivational
b- Inflectional
c- Functional
d- Positional

11- Identify the NON-FINITE verb in the sentence 'l recall him saying that he
wanted to leave'.
a- Want to leave

b- Want
c- Wanted to leave
d- To leave

12-The lexicon is a:
a- Mental dictionary

b- Dictionary
c- Glossary
d- Word-list

13- Lexical words include :
a- Pronouns
b- Determiners
c- Conjunctions
d- Words with lexical or dictionary meaning

& -



14- The native speaker's implicit knowledge of the rules of his language called:
a- Performance
b- Competence
c- Syntax
d- Linguistics

15- When a morphological rule can be frequently used to form new word, it is
said to be:
a- Productive
b- Creative
c- Intuitive
d- Non-selective

16- The suffixes in the word 'ungratefulness' is :

a- -ful

b- -fulness

c- -fatefulness
d- -ness

17- Generative grammar claims that a child is born with an innate predisposition
to acquire any language on the basis of a set of universal principles called:
a- Universal grammar
b- Minimalist grammar
c- Functional grammar
d- Word grammar

18- A morpheme is the smallest unit of :
a- Morphology
b- Phonology
c- Semantics
d- Pragmatics

19- The word 'had' in the sentence 'He had a shower' is :
a- A grammar word
b- A lexical word
c- A function word
d- A class word

20- Which of the following illustrates 'compounding' :

a- Football
b- Prep-school
c- NATO

d- E-commerce
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21-The free morpheme in the word 'institutionalization' is :
a- Statute
b- Institute
c- Institution
d- Institutionalize

22- Which of the following is illustrated by the word 'infomercial':
a- Compounding
b- Blend
c- Clipping
d- Backformation

23-The inflection process turning 'sink' into 'sank’ is called :
a- Umlaut
b- Ablaut
c- Suppletion
d- Conversion

24-In English, verb inflection GENERALLY involves ...............:

a- Prefixing
b- Suffixing
c- Infixing

d- Vowel harmony

25- How many base forms are there in the following word 'restructuring'.
a- One

b- Two
c- Three
d- Zero

26- Is English an infixing language?
a- Yes
b- No
c- In some exceptional words
d- Inirregular pasts forms of the verb only

27-In Tagalog, 'bili' means 'buy' while 'binili' means 'bought'. Identify the
morpheme marking the past in this languge.

a- -bin-
b- -nil-
c- -ini-
d- -in-
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28- Which of the following statements is correct:
a- The semantic head of a clause is |
b- The semantic head of a clause is V+I
c- The semantic head of a clause is V
d- The semantic head of a clause is C

29-In SVO languages, ......ccceeuven... ?
a- Complements follow their heads
b- Complements precede their modifiers
c- Complements precede their heads
d- Complements are optional

30- In morphology, we study :
a- Affix structure
b- Prefix structure
c- Word structure
d- Suffix structure

31-In the sentence 'Being such a shy person, he hated to meet in cafes to chat’,
the FINITE verb is :

a- Hated
b- Being
c- Meet
d- Chat

32- What determines the grammatical category of a compound is:
a- The rightmost word
b- The leftmost word
c- The rightmost and the leftmost words together
d- Neither the rightmost nor the leftmost word

33-In English, inflection is :
a- More productive than derivation
b- Less productive than derivation
c- As productive as derivation
d- Noun-based only

34-The derivation of a YES/NO question in English of the movement of:
a- V-to-Spec of IP
b- V-to-l
c- I-to-C
d- V-to-Spec of CP




35- In the following string 'a very intelligent student' the underlined words make:
a- AP

b- ADV P
c- NP
d- PP
36- e, refers to the speakers' actual use of language in real life situations.

a- Performance
b- Competence
c- Linguistics

d- Syntax
37 e, is an affix that is attached before the root.
a- A suffix
b- Astem
c- Aroot
d- A prefix

38- Which of the following statements is correct:
a- A derivational affix affixes to a base before an inflectional one.
b- A derivational affix attaches before an inflectional one.
c- A derivational affix attaches before and after an inflectional one.
d- A derivational affix never occurs with inflectional one.

39- The word 'buildings' can be morphologically analyzed into which of the

following :
a- Build-ings
b- Building-s
c- Build-ing-s
d- Buildings
40- ........... occurs when a given utterance can receive more than one

interpretation.

a- Suface meaning

b- Deep meaning

c- Structural ambiguity
d- External meaning

41- In French Yes/NO questions are derived by the application of :
a- V-to-I-to-C

b- V-to-C
c- I-to-V-to-C
d- V-to-SpecC




42- UNICEF illustrates:
a- Anacronym
b- Ablend
c- An example of clipping
d- An example of backformation

43- When root is combined with an affix, it forms:
a- An expanded root
b- An complex word
c- An expanded base
d- Asimple word

44- The inflectional morpheme in 'teachers' is:

a- Teacher-
b- -er

c- -ers

d- -s

45- In the phrase 'the very beautiful white house' the Spec is:
a- The
b- The very
c- The very beautiful
d- The very beautiful white

46- .o, is an example of backformation.
a- Edit
b- Televise
c- Donate

d- Calculate

Y 0y sl 2 NOt Las) g VL5t 3 Les sy backformation s 1Y) &t @58 o) e oy il

47- Affixes are:
a- Free morphemes
b- Independent words
c- Bounded morphemes
d- Base forms

48- .......... is a morpheme that makes the most significant contribute a word's

meaning:

a- The phoneme

b- The derivational morpheme
c- The inflectional morpheme
d- Theroot




49- Choose the group of words that results from derivation:
a- Cry, cries, cried, crying
b- Kind, unkind, kindness, kindly
c- Tooth, teeth
d- King, kingdom, kingdoms

50- A compound is a word that contains ..............
a- One prefix and one word
b- One suffix and one word
c- Two root morphemes and one word
d- Two words

ay
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